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 B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

First Semester

Commerce with Computer Applications

ADVANCED OF ACCOUNTANCY – I

(CBCS—2008 onwards)

Time : 3 Hours  Maximum : 75 Marks

Part - A (10 × 2 = 20)

Answer all questions.

1. Define Accounting.

PnUS¨£vÂ¯À & ÁøµÂ»UPn® u¸P.

2. What is Ledger ?

@£@µk GßÓõÀ GßÚ ?
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3. What is Suspense Account ?

AÚõ©zxU PnUS GßÓõÀ GßÚ ?

4. What do you mean by Debit balance as per pass

book ?

öŒÀ@»miß £i £ØÖ C¸¨¦ Gß£x £ØÔ E©x

P¸zx ¯õx ?

5. State any two causes for depreciation.

@u#©õÚzvØPõÚ Põµn® H@uÝ® CµsiøÚ

SÔ¨¤kP.

6. What is Machine Hour Rate ?

C¯¢vµ ©o ÂQu® GßÓõÀ GßÚ ?
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7. What do you mean by ‘Adjustments’ ?

Œ›UPmkuÀPÒ Gß£x £ØÔ E©x P¸zx ¯õx ?

8. What is Deferred Revenue Expenditure ?

}Ò£¯ß Á¸Áõ°ß öŒ»ÄPÒ GßÓõÀ GßÚ ?

9. What do you understand by ‘Average Clause’ ?

ŒµõŒ› ÂQuõaŒõµ® Gß£vÀ }Âº ¦›¢x

öPõshx ̄ õx ?

10. What is ‘Salvage’ ?

Põ¨£õØÓ¨£mh ö£õ¸Ò GßÓõÀ GßÚ ?
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Part - B (5 × 5 = 25)

Answer all questions, choosing either (a) or (b).

11. (a) Gi ve t h e r u l es of  D ou bl e E n t r y  Syst em  of

A ccou n t i n g.

Cµmøh £vÄ •øÓU PnUS¨ £vÂ¯¼ß

Âv•øÓPøÍ u¸P.

(Or)

(b) Describe the benefits of subsidiary books.

xøn HkPÎß |ßø©PøÍ ÂÁ›UP.

12. (a) From the following information, prepare a

Bank Reconciliation Statement as on

31–12–2005.
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Rs.

(i) Balance as per cash book 12,500

(ii) Cheques issued but not presented

    for payment 900

(iii) Cheques deposited in bank but not

    collected 1,200

(iv) Bank paid insurance premium 500

(v) Interest on Investment collected

    by Bank 200
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RÌ Á¸® Â£µ[öPõsk 31&12&2005 AßÖ

J¸ Á[Qa Œ›UPmk AÔUøP u¯õº öŒ#P :

¹.

(i) öµõUP Hmiß C¸¨¦ 12,500

(ii) AÎzu Põ@Œõø»PÒ öŒ¾zxøPUS

    ÁµõuøÁ 900

(iii) Á[Q°À öŒ¾zv¯ Põ@Œõø»PÒ

    Á‹»õPõuøÁ 1,200

(iv) Á[Q ö¾zv¯ Põ¨¥mk •øÚ©® 500

(v) Á[Q Á‹¼zu •u½kPÒ «x Ámi 200

(Or)
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(b) Rectify the following errors discovered after

the preparation of Trial Balance :

(i) A Sale of Rs. 60 posted to the credit of

customer’s account.

(ii) Sales Book was under cost by Rs. 200.

(iii) Rs. 125 received from X posted to the credit

of  Y.

C¸¨£õ#ÂØS ¤ß PshÔ¢u RÌÁ¸®

¤øÇPøÍ v¸zxP :

(i) ÂØ£øÚ ¹. 60 ÁõiUøP¯õÍº PnUQÀ

ÁµöÁÊv²ÒÍx.

(ii) ÂØ£øÚ Hk ¹. 200 SøÓÁõP

Tmh¨£mkÒÍx.

(iii) GUêhª¸¢x ö£ØÓ ¹. 125 J#°ß

PnUQÀ ÁµöÁÊu¨£mkÒÍx.
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13. (a) A f irm purchases a 3 years lease for

Rs. 1,00,000 on 1.1.2005. It decides to write

off depreciation on the Annuity method, the

Bank rate of interest in at 5% p.a. The

annuity table  show that a sum of Rs. 36,721

should be written off every year. Show the

lease account for 3 years.

1.1.2005&À J¸ {ÖÁÚ® ¹. 1,00,000 ØPõÚ

SzuøP JßøÓ Áõ[Q¯x. Bskz uõøP

•øÓ°À CuØS @u#©õÚ® GÊu •iÄ

öŒ#¯¨£mhx. Á[Q Ámi ÂQu® BsiØS

5% EÒÍx. BskzöuõøP AmhÁøn¨

£i BsöhõßÖUS ¹. 36,721 @u#©õÚ®

@£õUöPÊu¨£h@Ásk®. C® ‰ßÖ Bsk

Põ» SzuøP PnUS u¸P.

(Or)

(b) A machine was purchase for Rs. 30,000 on

1.1.2002. After 5 years depreciating it by 16%

under straight line method, it was sold for

 Rs. 5,000. Show the machine account for the

5 years period.
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1.1.2002 ¹. 30,000 ØS J¸ C¯¢vµ®

Áõ[P¨£mhx @|º@Põmk •øÓ°À 16%

@u#©õÚ® GÊx, I¢uõskPÐUS ¤ß

31.12.2006À ¹. 5,000ØS ÂØP¨£mhx.

I¢uõsk Põ» C¯¢vµU PnUS u¸P.

14. (a) From the following informations, prepare a

Profit and Loss account :–

Rs. Rs.

Capital a/c 72,000 Salaries 8,000

Interest (or) 1,320 Postage 574

Bad debts 546 Insurance 835

Depreciation 2,435 Advertisement 1,443

Gross profit 33,290 Goodwill 15,000
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RÌÁ¸® Â£µ[PÎ¼¸¢x J¸ C»õ£ |mhU

PnUS u¯õ›UP :

¹. ¹.

•uÀ P/S 72,000 Œ®£Í[PÒ 8,000

Ámi ÁµÄ 1,320 u£õÀ öŒ»Ä 574

ÁµõU Phß 546 Põ¨¥k 835

@u#©õÚ[PÒ 2,435 ÂÍ®£µ[PÒ 1,443

ö©õzu C»õ£® 33,290 |Øö£¯º 15,000

(Or)

(b) From the following information regarding

sports materials, find out the net value to be

shown in Income and expenditure account.
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           Rs. Rs.

Opening Balance 4,000 Purchases 16,000

Closing Balance 6,000 Sale of old materials 100

ÂøÍ¯õmka ŒõuÚ[PÒ SÔzu RÌ Á¸®

Â£µ[PÎ¼¸¢x Á¸Áõ# öŒ»ÂÚ PnUQÀ

GÊu @Ási¯ {Pµ ©v¨¦ PõsP.

                ¹.  ¹.

öuõhUP C¸¨¦ 4,000 öPõÒ•uÀ 16,000

CÖv C¸¨¦ 6,000 £øÇ¯Ú ÂØÓx 100

15. (a) A fire occurred in the premises of a merchant

on 15-6-2008,  a considerable part of the stock

was destroyed. The value of stock saved was

Rs. 4,500. The books disclosed that on

1.4.2008 the stock was valued at Rs. 36,750.
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The purchases to the date of  the f ive

amounted to Rs. 1,04, 940 and the sales

Rs. 1,56,500. On investigation it was found

that during the past five years the average

gross profit on sales was 36%. Calculate the

claim to be made.

15.6.2008 AßÖ J¸ Â¯õ£õ›°ß ÁÍõPzvÀ

wÂ£zx HØ£mk PoŒ©õÚ AÍÄ ŒµUSPÒ

@Œu©øh¢uÚ. £õxPõUP¨£mh ŒµUSPÎß

©v¨¦ ¹, 4,500. HkPÒ öÁÎ¨£kzxÁx,

1.4.2008 AßÖ ŒµUQ¸¨¦ ¹. 36,750. w Â£zx

Áøµ°»õÚ öPõÒ•uÀ ¹. 1,04,940 ©ØÖ®

ÂØ£øÚ ¹. 1,56,500. ÂŒõ›zu ÁøP°À

Ph¢u I¢x BskPÍõP ŒµõŒ› (ÂØ£øÚ

«x) ö©õzu C»õ£ ÂQu® 36% GÚ

Põn¨£mhx. wUPõ¨¥mk @Põ›UøPø¯

PnUQkP.

(Or)
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(b) A trader has his stock insured against fire.

Subsequently a five destroyed a part of the

stock which was value on the data of the

Rs. 60,000. The stock was insured subject

to average clause stock salvaged Rs. 12,000.

Stock was insured for Rs. 36,000. Calculate

the claim.

J¸ Â¯õ£õ› uß ŒµUSPÐUS wUPõ¨¥k

öŒ#v¸¢uõº. ¤ß J¸ |õÒ w Â£zvÀ

@Œu¨£kzu¨£mh ŒµUSPÒ ¹. 60,000 GÚ

©v¨¤h¨£mhx. ŒµõŒ› ÂQuõŒõµzvØS

Em£mh CaŒµUQß J¸ £Sv Põ¨£õØÓx ¹.

12,000. ŒµUS Põ¨¥mkz öuõøP ¹. 36,000.

wPõ¨¥mk @Põ›UøPø¯ PnUQkP.

Part - C (3 × 10 = 30)

Answer any three questions .

16. Prepare Trial Balance after giving Journal and

Ledger from the following transactions :
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 Rs.

2005

January 1 Capital paid into Bank   1,00,000

2 Cash sales 42,000

5 Machinery purchased 25,000

9 Bought goods for cash 50,000

12 Goods sold to Mohan 20,000

15 Bought goods from Shogan 35,000

RÌ Á¸® |hÁiUøPPÐUS SÔ¨@£k ©ØÖ®

@£@µk u¢x C¸¨£õ#Ä u¯õ›UP :

¹.

2005

áÚÁ› 1 Á[Q°À öŒ¾zv¯ •uÀ   1,00,000

2 öµõUP ÂØ£øÚ 42,000
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¹.

5 C¯¢vµ® Áõ[Q¯x 25,000

9 öµõUPzvØS Áõ[Q¯ ŒµUS 50,000

12  @©õPÛØS ŒµUS ÂØÓx 20,000

15 @åõPÛhª¸¢x ŒµUS

    Áõ[Q¯x 35,000

17. Pass Journal entries to rectify the following errors

and prepare Suspense a/c :–

(i) The total of sales book was under cost by

Rs. 2,000.

(ii) The purchase of machinery Rs. 3,000 was

entered in the purchases book.
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(iii) A sale of Rs. 45 to Selvan was posted in his

account as Rs. 54.

(iv) The total of purchase return was over cost by

Rs. 2,000.

(v) The total of sales book 1,122 was wrongly

posted in the ledger as 1,222.

RÌ Á¸® ¤øÇPøÍ v¸zu £vÄPÒ u¢x

AÚõ©zx P/S u¯õ›UP.

(i) ÂØ£øÚ Hk ¹. 2,000 SøÓÁõP Tmh¨£mk

Âmhx.

(ii) C¯¢vµ® Áõ[Q¯x ¹. 3,000 öPõÒ•uÀ HmiÀ

£v¯¨£mhx.

(iii) ¹. 45ØS öŒÀÁÝUS ÂØ£øÚ öŒ#x AÁº

PnUQÀ  ¹. 54 GÚ GÊu¨£mhx.
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(iv) öPõÒ•uÀ v¸¨£ Hk ¹. 2,000 AvP©õP

Tmh¨£mkÂmhx.

(v) ÂØ£øÚ Hmiß TmkzöuõøP ¹. 1,122

@£@µmiÀ ¹. 1,222 GÚ uÁÖu»õP

GÊu¨£mhx.

18. A machinery was purchased on 1.1.2005 for

Rs. 40,000. The same year in June another machine

was purchased for Rs. 15,000 and Rs. 5,000 were

spent on its installation. On 30.6.2007 the second

machine was sold for Rs. 15,000 prepare machine

a/c upto 31.12.2007 by depreciating it at 10% under

Reducing Instalment method.

1.1.2005 AßÖ ¹. 40,000 ØS J¸ C¯¢vµ®

Áõ[P¨£mhx. A@u Bsk 30 ãÛÀ @©¾® J¸

C¯¢vµ® Áõ[Q¯x. ¹. 15,000 ØS Cuß {ÖÁÚa

öŒ»Ä ¹. 5,000, 30&6&2007 AßÖ CµshõÁx

C¯¢vµ® ¹. 15,000 ØS ÂØP¨£mhx. SøÓ¢x

öŒÀ •øÓ°À 10% @u#©õÚ® GÊx 31.12.2007

Áøµ C¯¢vµU PnUS u¯õ›UP.
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19. How a Balance Sheet differs from a Trial Balance.

J¸ C¸¨¦ {ø»USÔ¨¦ G[VÚ® C¸¨£õ#Â

¼¸¢x @ÁÖ£kQÓx.

20. On 31-12-2006 the godown of a businessman was

destroyed by fire. From the records following

information could be gathered. The amount of

policy Rs. 1,50,000.

Particulars           2004   2005             2006

                                  Rs.     Rs.                 Rs.

Sales 6,00,000 6,60,000 6,48,000

Gross profit 1,80,000 1,98,000              –

Opening Stock            – – 1,65,000

Purchases                    – – 4,60,000

Salvaged                      – – 11,400

calculate the amount of claim for insurance.
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31.12.2006-&À J¸ Â¯õ£õ›°ß Qh[QÀ w Â£zx

HØ£mk •Êx® @Œu©øh¢uÚ. HkPÎ¼¸¢x

RÌÁ¸® uPÁÀPÒ ©mk@© @ŒP›UP¨£mhÚ.

Põ¨¥mk £õ¼] öuõøP ¹. 1,50,000.

Â£µ[PÒ             2004 2005                   2006

                                  ¹.    ¹. ¹.

ÂØ£øÚ   6,00,000 6,60,000 6,48,000

ö©õzu C»õ£® 1,80,000  1,98,000              –

öuõhUPa ŒµUS            –       – 1,65,000

öPõÒ•uÀ                    –       – 4,60,000

Põ¨£õØÔ¯ ŒµUSPÒ   –       – 11,400

Põ¨¥miØPõÚ @Põ›UøPz öuõøP PnUQhÄ®.

***
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 B.Com. (C.A.) DEGREE EXAMINATION

NOVEMBER 2010

First Semester

Commerce with Computer Applications

FUNDAMENTALS OF COMPUTERS

(CBCS—2008 onwards)

Time : 3 Hours  Maximum : 75 Marks

Part - A (10 × 2 = 20)

Answer all questions.

1. What is Digital Computer ?

Gs©õÚU Po¨£õß GßÓõÀ GßÚ ?

2. What is Software ?

PmhøÍU TÖ GßÓõÀ GßÚ ?
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3. What is Transfer File ?

©õØÖ @Põ¨¦ GßÓõÀ GßÚ ?

4. What is Network Topology ?

ö|möÁõºU @hõ¨£õ¼â GßÓõÀ GßÚ ?

5. What is TCP|IP ?

TCP|IP GßÓõÀ GßÚ ?

6. What is meant by Operating system ?

öŒ¯À£õmk •øÓ Gß£uß ö£õ¸Ò ¯õx ?

7. What is UNIX ?

³ÛUì GßÓõÀ GßÚ ?
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8. What is GUI ?

GUI  GßÓõÀ GßÚ ?

9. What is Windows XT ?

Âs@hõì & GUì i GßÓõÀ GßÚ ?

10. What is Icon ?

IUPõß GßÓõÀ GßÚ ?

Part - B (5 × 5 = 25)

Answer all  the questions.

11. (a) What are the basic components of a computer ?

Po¨£õÛß Ai¨£øh £õP[PÒ ¯õøÁ ?

(Or)
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(b) Explain any three storage device.

£õxPõ¨¦ P¸ÂPÒ H@uÝ® ‰ßÔøÚ

ÂÍUSP.

12. (a) Explain the working of LAN

@»ß&Ûß öŒ¯À£õmiøÚ ÂÍUPÄ®.

(Or)

(b) State the needs for communication media.

uPÁÀ öuõhº¦ ŒõuÚ[PÎß @uøÁPøÍ

ÂÍUSP.

13. (a) Discuss about classification of operating

system.

öŒ¯À£õmk vmhzvß £À@ÁÖ ÁøPPøÍ

ÂÁõv.

(Or)
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(b) State any four MS-DOS commands.

H@uÝ® |õßS G®.Gì.&hõì PmhøÍPÒ

£ØÔ TÖP.

14. (a) Write a note on Unix file system.

³ÛUê &ß @Põ¨¦ |øh•øÓ SÔzx

ÁøµP.

(Or)

(b) What do you understand by File permission

in UNIX ?

³ÛUêß @Põ¨¦ AÝ©v SÔzx }Ãº

AÔÁx ¯õx ?
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15. (a) How do you move and sizing windows ?

Âs@hõì&ø¯ |Pºzx® ©ØÖ® ©õØÖ®

•øÓ°øÚ ÂÍUSP.

(Or)

(b) State the salient features of Windows 98.

Âß@hõì 98&ß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?

Part - C (3 × 10 = 30)

Answer any three questions.

16. Explain the Chief  characteristics of a computer.

J¸ Po¨£õÛß •UQ¯ ]Ó¨¤¯À¦PøÍ

ÂÍUSP.
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***

17. Write a note on protocols.

¦@µõmhPõÀPÒ SÔzx ÁøµP.

18. Discuss the functions of Operating System.

öŒ¯À£õmk vmhzvß £oPÒ £ØÔ ÂÁõv.

19. Explain the file security procedure in UNIX.

³ÛUêß @Põ¨¦ £õxPõ¨¦ |øh•øÓ°øÚ

ÂÍUSP.

20. What are the features of  Windows XP ?

Âs@hõì & GUì¤°ß ]Ó¨¤¯À¦PÒ ̄ õøÁ ?
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 B.Com. (C.A.) DEGREE EXAMINATION
 NOVEMBER 2010

Second Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY – II

(CBCS—2008 onwards)

Time : 3 Hours  Maximum : 75 Marks

Part - A (10 × 2 = 20)

Answer all questions.

1. What is Bills of Exchange ?

©õØÖ BÁn[PÒ GßÓõÀ GßÚ ?

2. What is meant by Noting charges ?

SÔ¨¦U Pmhn® Gß£uß ö£õ¸Ò ¯õx ?
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3. What is Average Due Date ?

ŒµõŒ› uÁøn |õÒ GßÓõÀ GßÚ ?

4. What is Red Ink Interest ?

]Á¨¦ ø© Ámi GßÓõÀ GßÚ ?

5. What is Invoice Price ?

Chõ¨¦ Âø» GßÓõÀ GßÚ ?

6. What is Abnormal Loss ?

AŒõuõµn |mh® GßÓõÀ GßÚ ?

7. What is Joint Venture ?

Cøn ÂøÚ GßÓõÀ GßÚ ?
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8. Who are Co-ventures ?

CønÂøÚ¯õÍºPÒ Gß£Áº ̄ õº ?

9. What do you mean by  Single Entry System ?

JØøÓ¨ £vÄ •øÓ Gß£uß ö£õ¸Ò ¯õx ?

10. What is Statement of Affairs ?

Bµ®£ ÂÁµ¨ £mi¯À GßÓõÀ GßÚ ?

Part - B (5 × 5 = 25)

Answer all questions, choosing either (a) or (b).

11. (a) Arun sold goods to Babu on 1st April 2007 for

Rs. 2,000 for which a bill of exchange for 3

months was drawn by Arun and accepted by

the later. Give journal entries in the Books of

both the parties assuming the Bill  is

honoured on the due date.
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H¨µÀ 1, 2007 AßÖ ¹. 2,000 UPõÚ

ö£õ¸mPøÍ A¸s Gß£Áº £õ¦ Gß£Á›h®

ÂØ£øÚ öŒ#uõº. C¢u ÂØ£øÚz

öuõøPUPõP ‰ßÖ ©õu ©õØÖa^miøÚ

A¸s GÊu Aøu ©ØÓÁº HØÓõº. uÁøn

|õÍßÖ ©õØÖa^mk HØP¨£mhx GßÖ

P¸zvÀ öPõsk C¸Á›ß HkPÎ¾®

SÔ¨@£mk¨ £vÄPøÍz u¸P.

(Or)

(b) On  1.1.2005 Mr. Prasanna draw a 3 months

bill on Mr. Kannan for Rs. 5,000. It was

accepted by Kannan returns it to Prasanna.

Prasanna discount the bill with his bank at

6% p.a.  on the due date the bil l was

dishonoured.

Pass Journal entries in the books of

Prasanna.



5 AF-2260

¤µŒßÚõ Gß£Áº 2005&® Bsk áÚÁ› 1

B® |õÒ Psnß Gß£Áº «x ¹. 5,000US

 3 ©õu Põ»zvØS ©õØÖ^mk JßøÓ

GÊvÚõº. Psnß AuøÚ HØÖ

¤µŒßÚõÂØS v¸¨¤ AÝ¨¤Úõº.

¤µŒßÚõ A®©õØÖ ^møh uÚx Á[Q°À

J¨£øhzx BskUS 6% Ai¨£øh°À

uÒÐ£i öŒ#uõº. uÁøn |õÎÀ A®©õØÖ

^mk AÁ©vUP¨£mhx.

¤µŒßÚõ HmiÀ •uÀ SÔ¨@£k £vÄ öŒ#P.

12. (a) Kannan purchased goods from Raman, for

which the due dates are given below :

2007 Rs.

March 15 1,000 Due 18th April

April 21 1,500 Due 24th  May
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April 27 500 Due 30th June

May 15 600 Due 18th July

Find the average due date.

Psnß Gß£Áº µõ©ß Gß£Á›hª¸¢x

öPõÒ•uÀ öŒ#uuØPõÚ uÁøn |õmPÒ

¤ß Á¸©õÖ :

2007 ¹.

©õºa 15 1,000 uÁøn @uv H¨µÀ 18

H¨µÀ 21 1,500 uÁøn @uv @© 24

H¨µÀ  27 500 uÁøn @uv áúß 30

@© 15 600 uÁøn @uv áúø» 18

ŒµõŒ› uÁøn |õøÍ PnUQkP.

(Or)
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(b) Valli has purchased goods and accepted

several bills following due on different date.

Now she desires to cancel all the bills and to

accepts a new bill for the whole amount on

the average due date. Find the Average due

date.

         S.No.          Date of Bills Amount             Term

(in Months)

1 1.3.2000 400 2

2 10.3.2000 300 3

3 5.4.2000 200 2

4 20.4.2000 375 1

5 10.5.2000 500 2
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ÁÒÎ Gß£Áº ö£õ¸mPøÍ PhÝUS öPõÒ•uÀ

öŒ#x AuØS›¯ öuõøPUS £À@ÁÖ ©õØÖ

^mkPøÍ HØÖUöPõshõº. uØ@£õx AøÁPøÍ

}UQÂmk Jmkö©õzu öuõøPUS® J¸ ©õØÖ

^miøÚ ŒµõŒ› uÁøn |õÒ •øÓ°À HØP

Â¸®¦QÓõº. A¢|õøÍ PshÔP.

    Á.Gs.           ©õØÖa^mk  öuõøP            Põ» AÍÄ

        @uv (©õu[PÎÀ)

1 1.3.2000 400 2

2 10.3.2000 300 3

3 5.4.2000 200 2

4 20.4.2000 375 1

5 10.5.2000 500 2
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13. (a) Chandran of Chennai consigned 200 packets

of cosmetics each costing Rs. 600 to his agent

Makesh of  Calcutta. He paid  Rs. 1,000

towards Freight and Insurance. Consignee

took delivery of the goods and spent Rs. 3,400

as clearing charges and Rs. 1,400 as godown

rent. Consignee sells away 140 packets. 30

packets were destroyed at the godown of

Makesh. Calculate the value of abnormal

loss.

öŒßøÚø¯a @Œº¢u Œ¢vµß Gß£Áº

PÀPzuõÂÀ EÒÍ ©@Pè Gß£Á¸US 200

ö£miPÒ AÇS ŒõuÚ¨ ö£õ¸mPøÍ

JÆöÁõßÖ® ¹. 600 Ãu® AÝ¨¥k öŒ#uõº.

AÁº Ási ÁõhøP ©ØÖ® Põ¨¥mka

öŒ»ÄPÐUPõP ¹. 1,000 öŒ»Âmhõº.

ö£õ¸mPÒ Gk¨¦ öŒ»Ä ¹. 3,400 ©ØÖ®

£shP Põ¨¦ AøÓ ÁõhøP ¹. 1,400

BQ¯ÁØøÓ AÝ¨¥k ö£Ö|º HØÖU

öPõshõº. 140 £õUöPmkPÒ ÂØ£øÚ
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öŒ#¯¨£mhÚ. 30 £õUöPmkPÒ ©@Pæß

£shP Põ¨£øÓ°À  AÈ¢x @£õ°Ú. AÈ¢x

@£õÚ ŒµUSPÎß AŒõuõµn©õÚ |mh®

GÆÁÍÄ Gß£øuU PnUQkP.

(Or)

(b) Arun consigned 2,000  tonnes of coal at

Rs. 50 per tonne to Balu. He paid Rs. 20,000

for freight. Due to normal loss only 1950

tonnes were received by Balu. He also paid

Rs. 5,000 for unloading charges. The goods

unsold amounts to 650 tonnes. You are

required to calculate the value of closing

stock.

A¸s Gß£Áº 2000 hß {»UP›ø¯ J¸ hß

¹. 50 Ãu® £õ¾ Gß£Á¸US AÝ¨¥k

öŒ#uõº. ¤ÓS A¸s T¼UPõP

¹. 20,000zøu öŒ»Ä öŒ#uõº. Œõuõµn

|mh® @£õP 1950 hß {»UP›ø¯ ©mk®

£õ¾ ö£ØÖUöPõshõº. ¤ÓS £õ¾ ¹. 5,000
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zøu HØÖU T¼UPõP öŒ»Ä öŒ#uõº. ÂØPõ

ŒµUQß ©v¨¦ 650 hßPÒ C¢u ‹Ì{ø»°À

ÂØPõ ŒµUQß ©v¨ø£ PnUQkP.

14. (a) What are the difference between Joint

Venture and Partnership ?

Cøn ÂøÚUS®, Tmhõsø©US® EÒÍ

@ÁÖ£õkPÒ ̄ õøÁ ?

(Or)

(b) A and B were joint venture, sharing profit

and losses in the Ratio of 10 : 9 respectively.

Each party maintains a complete record in his

own books. ‘A’ supplies goods to the value of

Rs. 25,000 and incurs on Expenses of Rs. 500

on them and ‘B’ supplies goods to the extent

of Rs. 21,000 and his  Expenses thereon

amounted to Rs. 1,000. ‘A’ sell all the goods

for Rs. 70,000 for which he is entitled to
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receive a commission at 5%. Account are

settled by bank draft. Prepare Necessary

account in the books of ‘A’.

A ©ØÖ® B BQ¯ C¸Áº Cøn ÂøÚ¯ºPÒ.

C¸Áµx C»õ£|mh ÂQu® •øÓ@¯ 10 : 9

BS®. C¸ ÂøÚ¯¸® CønÂøÚ

|hÁiUøPø¯ uzu® HmiÀ £vÄ öŒ#x

Á¢uÚº. A Gß£Áº ¹. 25,000 ©v¨¦ÒÍ

ŒµUøP CønÂøÚUS ÁÇ[QÚõº. ©ØÖ®

CuØPõP AÁº öŒ#u öŒ»Ä ¹. 500 BS®.

¤ÓS B ¹. 21,000 ©v¨¦ÒÍ ŒµUøP

CønÂøÚUS ÁÇ[QÚõº. ¤ÓS AÁº

CønÂøÚUPõP öŒ#u öŒ»ÄPÒ ¹. 1,000

BS®.  ¤ÓS A AøÚzx ŒµUSPøÍ²®

 ¹. 70,000US ÂØ£øÚ öŒ#uõº. ¤ÓS

CuØPõP A US PÈÄ ÂØ£øÚ°À 5% BS®.

A uõß öŒ¾zu @Ási¯ öuõøPø¯ Á[Q

KøÇ ‰»® öŒ¾zvÚõº.

A Gß£Á¸øh¯ HmiÀ @uõßÓU Ti¯

•UQ¯©õÚ @£@µmk PnUøP u¯õº öŒ#P.
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15. (a) Guna keeps his accounts under single entry

system. His position during 2000 and 2001 as

follows :

2000 2001

Rs. Rs.

Cash 1,000 3,000

Stock 7,000 10,000

Debtors 15,000 20,000

Furniture 3,000 3,000

Creditors 3,000 6,000

During 2001 drawings amounted to Rs. 7,000

and additional capital introduced Rs. 3,000.

Provide depreciation on furniture at 10%.

Find out Profit/Loss of Guna.
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Snõ uÚx PnUSPøÍ JØøÓ¨ £vÄ

•øÓ°À £v¢x EÒÍõº. 2000 ©ØÖ® 2001

BskPÎÀ AÁµx Â¯õ£õµ {ø»

¤ßÁ¸©õÖ :

2000 2001

¹. ¹.

öµõUP® 1,000 3,000

ŒµUQ¸¨¦ 7,000 10,000

PhÚõÎPÒ 15,000 20,000

AøÓP»ß 3,000 3,000

PhÜ¢@uõº 3,000 6,000
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2001&À Gk¨¦ ¹. 7,000, TkuÀ •uÀ 2001&À

öŒ¾zv¯x ¹. 3,000 AøÓP»ß «x

@u#©õÚ® 10%.

SnõÂß C»õ£® / |mhzvøÚ PnUQkP.

(Or)

(b) What are the accounts prepared in conversion

method of Single Entry System ?

JØøÓ¨ £vÄ •øÓ°ß ©õØÖ •øÓ ‰»®

u¯õ›UP¨£k® PnUSPÒ ̄ õøÁ ?

Part - C (3 × 10 = 30)

Answer any three questions.

16. A  for the mutual accommodation of himself and

B, draws upon the latter a bill at 3 months for

Rs. 8,000 dated 1st January. The bill is discounted

by A at 5% p.a. and half the proceeds are remitted

to B.
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B at the same time, draws a bill at 3 months on A

for Rs. 4,000. After receiving A acceptance, the bill

is discounted at 6% p.a. by B who remits half the

proceeds to A. B becomes bankrupt on 31st March

and 25 paise in the rupee is received on 15th May

as frist and final dividends from his estate. Write

up journal entries in the books of A.

uÚx ©ØÖ® B Gß£Á›ß £n ÁŒvUPõP,

A Gß£Áº áÚÁ› 1 AßÖ ¹. 8,000&UPõÚ 3 ©õu

©õØÖa^møh B Gß£Áº @©À GÊvÚõº.  A A¢u

©õØÖa^møh Á¸hzvØS 5% GÚ PÈÄ öŒ#x,

AvÀ £õv öuõøPø¯ B US AÝ¨¤Úõº. A@u

@|µzvÀ B ¹. 4,000 UPõÚ 3 ©õu ©õØÖa^møh A

@©À GÊvÚõº. A ß J¨¦uø»¨ ö£ØÓ¤ß, B

BsiØS 6%&À PÈÄ öŒ#x, £õv öuõøPø¯

A&US AÝ¨¤Úõº. 31 ©õºa AßÖ B ö|õi¨¦{ø»

Aøh¢xÂmhõº. AÁ¸øhÍ¯ öŒõzxUPÎÀ

C¸¢x ¹. 1US 25 ø£Œõ ©mk® @© 15 AßÖ

ö£Ó¨£mhx.

A HkPÎÀ SÔ¨@£mk¨ £vÄPøÍz u¸P.
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17. Prepare Hari’s account current with Ramesh from

the following particulars on 31.3.2000 :–

Rs.

2000    1 Due from Hari’s   1,500

January 10 Sold goods to Hari 1,200

February 1 Cash received from Hari 1,500

15 Sold goods to Hari 1,800

18 Hari returned goods 200

28 Sold goods to Hari

(due 15th April) 1,000
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March 13 Sold goods to Hari

(due  15th May) 1,000

15 Cash received from Hari’s 400

Calculate interest at 6% p.a.

RÌPsh ÂÁµ[PÎÀ C¸¢x 31.3.2000 @uv¯õÚ

µ@©è Ehß BÚ í›°ß |øh•øÓ PnUøP

u¯õ›UP.

2000 ¹.

áÚÁ› 1 í›°h® C¸¢x {¾øÁ¯õ#

EÒÍx   1,500

10 í›US ö£õ¸Ò ÂØÓx 1,200
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¤¨µÁ› 1 í›°h® C¸¢x öµõUP® ö£ØÓx 1,500

15 í›US ö£õ¸Ò ÂØÓx 1,800

18 í› v¸¨¤¯ ö£õ¸Ò 200

28 í›US ö£õ¸Ò ÂØÓx

(uÁøn |õÒ H¨µÀ 15) 1,000

©õºa 13 í›US ö£õ¸Ò ÂØÓx

(uÁøn |õÒ @© 15) 1,000

15 í›°hª¸¢x öµõUP® ö£ØÓx 400

BskUS 6% Ámiø¯ PnUQkP.

18. Prem consigned 200 boxes of medicines at Rs. 100

per box to Ram. He paid insurance Rs. 1,000,

loading charges Rs. 1,600 and Freight Rs. 1,400.

Ram took delivery of the goods and spent clearing
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charges Rs. 1,000, godown rent Rs. 400 and

advertisement Rs. 1,600. Ram sold 160 boxes at

Rs. 200 per box.

Prepare important ledger accounts in the books of

Prem.

¤@µ® Gß£Áº µõ® Gß£Á¸US 200 ö£miPÒ

©¸¢xPøÍ JÆöÁõßÖ® ¹. 100 Ãu® AÝ¨¥k

öŒ#uõº. AÁº Põ¨¥k ¹. 1,000, HØÖøP Pmhn®

¹. 1,600 ©ØÖ® Ási ÁõhøP ¹. 1,400

öŒ»Âmhõº. ö£õ¸mPÒ Gk¨¦ öŒ»Ä ¹. 1,000

£shPõ¨¦ AøÓ ÁõhøP ¹. 400 ©ØÖ® ÂÍ®£µ®

¹. 1,600 BQ¯ÁØøÓ µõ® HØÖUöPõshõº. 160

ö£miPÒ ¹. 200 Ãu® ÂØ£øÚ öŒ#¯¨£mhÚ.

•UQ¯ @£@µmkU PnUSPøÍ ¤@µ® HmiÀ u¯õº

öŒ#P.
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19. Arun and Bala were partners in a joint venture

sharing Profit and Losses in the proportion of 3/5

and 2/5 respectively. Arun supplies goods to the

value of Rs. 10,000 and incurs expenses amounting

Rs. 800.

Bala supplies goods to the value of Rs. 8,000 and

his expenses are Rs. 600.

Bala sells the goods on behalf of the joint venture

and realises Rs. 24,000. Bala is entitled to a

commission of 5% on sales. Bala settles his account

by bank draft. Give journal entries and necessary

ledger accounts in the books of Arun only.

A¸s ©ØÖ® £õ»õ C¸Á¸® J¸ Cøn

ÂøÚ°À C»õ£ |mh[PøÍ •øÓ@¯ 3/5 ©ØÖ®

2/5 GßÓ ÂQuzvÀ ¤›zxUöPõÒÐ® TmhõÎPÒ

BÁº. A¸s ¹. 10,000 ©v¨¦ÒÍ ö£õ¸mPøÍ

AÎzx ¹. 800 öŒ»Ä® öŒ#xÒÍõº.
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£õ»õ ¹. 8,000 ©v¨¦ÒÍ ö£õ¸mPøÍ AÎzx

 ¹. 600 öŒ»Ä® öŒ#xÒÍõº.

Cøn ÂøÚUPõP ö£õ¸mPøÍ ÂØÖ £õ»õ

¹. 24,000 ö£ØÖÒÍõº. ÂØ£øÚ°ß «x

£õ»õÄUS 5% PÈÄ Esk. £õ»õ uÚx PnUøP

Á[Q Esi¯À ‰»® @|º öŒ#QÓõº.

A¸oß HkPÎÀ SÔ¨@£mk¨ £vÄPøÍ²®,

@uøÁ¯õÚ @£@µmkU PnUSPøÍ²® u¯õº

öŒ#P.

20. Mrs. Rani commenced business on 1.4.2000 with a

capital of Rs. 37,500. He immediately bought

furniture for Rs. 6,000. During the year, he

borrowed Rs. 7,500 from his wife as loan. He has

withdrawn Rs. 10,800 for his family expenses.

From the following particulars you are required

to prepare.Trading and Profit and Loss Account

and Balance Sheet as on 31 March 2001.
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Particulars Rs.

Cash received from Sundry Debtors 60,500

Cash paid to Sundry Creditors 87,500

Cash sales 50,000

Cash purchases 20,000

Carriage inwards 2,250

Discount allowed to Sundry Debtors 2,000

Salaries 2,500

Office expenses 2,000

Advertisement 2,500
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Particulars Rs.

Closing balance of Sundry Debtors 37,500

Closing balance of Sundry Creditors 25,000

Closing stock 17,500

Closing cash balance 21,950

Provide 10% depreciation on furnitures.

v¸©v µõo 1.4.2000 AßÖ ¹. 37,500 •uÀ

øÁzx Â¯õ£õµ® öuõh[QÚõº. AÁº EhÚi¯õP

Áõ[Q¯ AøÓP»Ûß ©v¨¦ ¹. 6,000,

Bsiøh°À AÁº uÚx ©øÚÂ°hª¸¢x

¹. 7,500 PhÚõP¨ ö£ØÓõº. AÁº uÚx Sk®£

öŒ»ÄUPõP ¹. 10,800 v¸®£ Gkzuõº.
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RÌ Psh ÂÁµ[PøÍU öPõsk 2001 ©õºa 31 ®

|õ@Íõk •iÁøh²® BsiØS›¯ Â¯õ£õµ

C»õ£ |mh PnUøP²® A¢|õøÍ¯ C¸¨¦

{ø»USÔ¨ø£²® u¯õº öŒ#P.

¹.

£Ø£» PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® 60,500

£Ø£» PhÜ¢@uõ¸US AÎzux 87,500

öµõUP ÂØ£øÚ 50,000

öµõUP öPõÒ•uÀ 20,000

EÒyUSU T¼ 2,250

£Ø£» PhÚõÎPÐUS AÎzu uÒÐ£i 2,000

Œ®£Í® 2,500
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¹.

A¾Á»Pa öŒ»ÄPÒ 2,000

ÂÍ®£µ® 2,500

£Ø£» PhÚõÎPÎß CÖv C¸¨¦ 37,500

£Ø£» PhÜ¢@uõ›ß CÖv C¸¨¦ 25,000

CÖv ŒµUQ¸¨¦ 17,500

CÖv øP öµõUP® 21,950

AøÓP»ß «x 10% @u#©õÚ® AÝ©vUP.

***
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B.Com (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Second Semester

Commerce with Computer Application’s
OPERATING SYSTEM

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part - A                (10 × 1-1/2 = 15)

Answer all questions.

1. Define Operating System.

B¨£÷µmi[ ]ìh® & Áøµ¯Ö.

2. What is distributed system?

£QºuÎ¨¦ •øÓ GßÓõÀ GßÚ?

3. What is meant by deadlock?

öhm»õU Gß£uß ö£õ¸Ò ̄ õx?
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4. What is Semaphores?

ö\©÷£õºì GßÓõÀ GßÚ?

5. What is Memory Management?

{øÚÁP ÷©»õsø© GßÓõÀ GßÚ?

6. What is Virtual Memory?

öÁõºåýÁÀ {øÚÁP® GßÓõÀ GßÚ?

7. What is File?

÷Põ¨¦ GßÓõÀ GßÚ?

8. What is File abstraction?

ø£À A¨ìiµUéß GßÓõÀ GßÚ?
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9. What is virus?

øÁµì GßÓõÀ GßÚ?

10. What is Hardware?

P¸Â¯® GßÓõÀ GßÚ?

Part - B                    (5 × 3 = 15)

Answer all questions.

11. a) What do you understand by Multi Processor?

©Ài ¤µõ\ºì SÔzx }Ãº AÔÁx ̄ õx?

(OR)

b) Describe OS as Resource Manager.

OS&ø¯ ‰»¨ö£õ¸ÒPÎß ÷©»õÍº GÚUPõmkP.
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12. a) What are the various types of scheduling?

AmhÁøÚ¨£kzxu¼ß £À÷ÁÖ ÁøPPÒ

¯õøÁ?

(OR)

b) Write a note on “Process Management”.

ö\¯À•øÓ ÷©»õsø© SÔzx SÔ¨¦ ÁøµP.

13. a) What do you understand by Memory Protection?

{øÚÁP¨ £õxPõ¨¦ SÔzx }Ãº AÔÁx ̄ õx?

(OR)

b) Write short note on Segmentation.

ÁøP¨£kzxuÀ SÔzx SÔ¨¦ ÁøµP.
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14. a) Explain the rules regarding naming the file.

÷Põ¨¦PÐUS ö£¯›k® |øh•øÓ°øÚ

ÂÍUSP.

(OR)

b) Discuss about file system reliability.

÷Põ¨¦ •øÓ°ß |®£Pzußø© SÔzx ÂÁõv.

15. a) Explain about I/O system software.

I/O ]ìh® \õ¨mk÷Áº SÔzx ÂÍUSP?

(OR)
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b) Write about Authentication.

BzußiU÷Påß SÔzx ÁøµP.

Part - C                    ( 3 × 10 = 30)

Answer any three questions.

16. Explain about Time Sharing Operating System.

÷|µ¨ £QºuÎ¨¦ |øh•øÓ ö\¯À vmh® SÔzx

ÂÍUSP.

17. State the procedure involved in implementation of

Semaphores.

ö\©÷£õºì Aø©¨£v¾ÒÍ |øh•øÓ°øÚ

TÖP.
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***

18. Briefly explain various methods of Memory

Management.

{øÚÁP ÷©»õsø©°ß £À÷ÁÖ •øÓ°øÚ

ÂÍUSP.

19. Write about file security and protection.

÷Põ¨¦ £õxPõ¨¦ SÔzx ÁøµP.

20. Explain about Modelling on Discs.

©õh¼[ Bß iìU £ØÔ ÂÍUSP.
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B.Com (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Third Semester

Commerce with Computer Applications
RELATIONAL DATABASE MANAGEMENT

SYSTEM

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part - A                (10 × 1-1/2 = 15)

Answer all the questions.

1. Write any two advantages of RDMS.

RDMS&ß |ßø©PÒ H÷uÝ® Cµsk GÊxP.

2. What is the Expansion of SQL?

SQL&ß Â›ÁõUP® GßÚ?

3. Write the Standard Format of DATE.

DATE&ß £›¢xøµUP¨£mh Aø©¨ø£ GÊxP.
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4. Write any three DCL Commands.

DCL PmhøÍPÒ H÷uÝ® ‰ßÖ GÊxP.

5. What is a variable?

Variable GßÓõÀ GßÚ?

6. What is an Index?

Index GßÓõÀ GßÚ?

7. Write the Syntax of Creating View.

View E¸ÁõUP¨ £¯ß£k® Syntax GÊxP.

8. What is a Literals?

Literals GßÓõÀ GßÚ?
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9. What is the use of GOTO Statement?

GOTO Statement&ß £¯ß GßÚ?

10. What is called a Table?

Table GßÖ AøÇUP¨£kÁx GßÚ?

Part - B                    (5 × 3 = 15)

Answer all the questions.

11. a) Write the parts of Oracle.

Oracle&ß £õP[PøÍ GÊxP-.

(OR)

b) List out the advantages of RDMS.

RDMS&ß |ßø©PøÍ Á›ø\¨£kzxP.
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12. a) How can you use the SQL * PLUS COPY

Command?

SQL * PLUS&ß COPY PmhøÍø¯ GÆÁõÖ

£¯ß£kzxÁõ´?

(OR)

b) Write the short notes on SQL RUN Command.

SQL&ß RUN PmhøÍ £ØÔ ]ÖSÔ¨¦ ÁøµP.

13. a) Write any three DML Commands with Syntax and

example.

H÷uÝ® ‰ßÖ DML PmhøÍPÎß ö£õx ÁiÁ®

©ØÖ® Euõµn® GÊxP.

(OR)
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b) Discuss about the “Key words”.

“Key words” £ØÔ ÂÁõvUPÄ®.

14. a) How can you create Index?

Index&I GÆÁõÖ E¸ÁõUSÁõ´?

(OR)

b) Write one example to Renaming the columns of a

view.

View&À J¸ column&ß ö£¯º ©õØÓ® ö\´²®

•øÓUS J¸ Euõµn® öPõk.

15. a) Draw the block diagram of PL/SQL.

PL/SQL&ß ö£õx Áøµ£h® ÁøµP.

(OR)
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b) Write the Syntax of FOR LOOP Statement. Give

one example.

FOR LOOP Statement&ß ö£õx ÁiÁ® GÊxP.

J¸ Euõµn® öPõk.

Part - C                    ( 3 × 10 = 30)

Answer any three questions.

16. What is Oracle? Compare with DBMS.

Oracle  GßÓõÀ GßÚ? DBMS Ehß J¨¤kP.

17. List the formatting commands used in SQL*PLUS.

SQL*PLUS&À format ö\´¯ EuÄ® PmhøÍPøÍ

Á›ø\¨£kzxP.

18.  Write the Syntax to creating Sequences and explain

the Syntax.

Sequence&I E¸ÁõUSÁuØPõÚ Syntax GÊxP.

Syntax&ß Á›PøÍ ÂÍUSP.
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19. Create the following table using the SQL Statement

Column Name Data Type Size

Client No. Varchar 2 6

Name Varchar 2 20

Address Varchar 2 30.

RÌPõq® SQL Statement&À AmhÁøn E¸ÁõUS.

Column Name Data Type Size

Client No. Varchar 2 6

Name Varchar 2 20

Address Varchar 2 30.
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20. Write about the Relational Data Model.

Relational Data Model £ØÔ GÊxP.

***
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C-PROGRAMMING (THEORY)

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part - A                (10 × 1-1/2 = 15)

Answer all questions.

1. What is a Variable?

Variable GßÓõÀ GßÚ?

2. A global variable is also known as ................. variable.

Global variable&I ................. variable GßÖ®

AøÇUP¨£kQÓx.

3. What is the difference between While loop and do while

loop?

While loop ©ØÖ® do while loop CµsiØS®

Cøh÷¯¯õÚ ÷ÁÖ£õk GßÚ?
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4. What is an Array?

Array GßÓõÀ GßÚ?

5. Write any three ANSIC keywords?

H÷uÝ® ‰ßÖ ANSIC keywords GÊxP.

6. What is a pointer?

Pointer GßÓõÀ GßÚ?

7. Write about the Labels?

Labels £ØÔ GÊ-x-P.

8. What is the use of Strlen function?

Strlen function- --ß  £¯ß Gß-Ú?
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9. Write the Syntax of if...def function?

if.....def function-ß ö£õx Ái-Á® GÊ-x-P.

10. What is Register?

Register Gß-ÓõÀ Gß-Ú?

Part - B                    (5 × 3 = 15)

Answer all questions.

11. a) What are the rules for naming a variable?

Variable-US ö£¯›h £¯ß£k® ÂvPÒ GßÚ?

(OR)

b) Write short notes on C Keywords.

C Keywords £ØÔ ]Ö SÔ¨¦ ÁøµP.
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12. a) Explain the Nesting if statement.

Nesting if statement £ØÔ ÂÍUSP.

(OR)

b) Discuss about the Boolean Values.

Boolean Values £ØÔ ÂÁõvUPÄ®.

13. a) Write the Syntax and example of Printf and

Scanf function?

Printf ©ØÖ® Scanf function&ß ö£õx ÁiÁ®

©ØÖ® Euõµn® GÊv ÂÍUSP.

(OR)
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b) Explain the C Library function?

C Library function £ØÔ ÂÍUSP.

14. a) Write a short notes on period operators?

Period Operators £ØÔ ]Ö SÔ¨¦ ÁøµP.

(OR)

b) Explain the Strcpy and Strcat Statements.

Strcpy ©ØÖ® Strcat Statements&I ÂÍUSP.

15. a) What is a C-Processor? Explain with example.

C-Processor GßÓõÀ GßÚ? Euõµnzxhß

ÂÍUSP.

(OR)
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b) Discuss about the get C and put C function.

get C ©ØÖ® put C function £ØÔ ÂÁõvUPÄ®.

Part - C                    ( 3 × 10 = 30)

Answer any three questions.

16. Write the special features of C Program.

C Program&ß ]Ó¨¦ A®\[PøÍ GÊxP.

17. Explain the else.... if and nesting if statements?

else.... if ©ØÖ® nesting if statements £ØÔ ÂÍUSP.

18. Discuss about the Functions.

Functions £ØÔ ÂÁõvUPÄ®.
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***

19. What is a Pointer? Write about the concept of

Pointer?

Pointer GßÓõÀ GßÚ? Pointer&ß TÖPÒ £ØÔ

GÊxP.

20. Write the miscellaneous features of C language ......

C ö©õÈ°ß Cuµ A®-\[-PøÍ GÊ-x-P.
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B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

Third Semester

Commerce with Computer Applications

BUSINESS STATISTICS

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all the questions.

1. What is classification ?

ÁøP¨£kzuÀ Gß£x ̄ õx ?

2. What is secondary Data ?

Cµshõ® {ø» uPÁÀ Gß£x ̄ õx ?

3. What is Medium ?

Cøh{ø» AÍÄ GßÓõÀ GßÚ ?

AF-2264 BCC3C3
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4. Write the merits of quartile deviation.

PõÀ©õÚ Â»UPzvß {øÓPøÍ GÊxP.

5. Define Karlpearson co-efficient of correlation

PõºÀ ¤¯ºŒß JmkÓÄ öPÊøÁ Áøµ¯Ö.

6. Define Regression :

öuõhº¦ @Põk Áøµ¯Ö.

7. State the condition for unit test.

A»Pz @uºÄUS›¯ {£¢uøÚø¯ TÖ.

8. Write any two uses of index number

SÔ±mk GsPÎß H@uÝ® C¸£¯ßPøÍ GÊxP.

9. Write the condition for draw a trend line in the graphic
method.

Áøµ£h •øÓ°À @£õUSU@Põk ÁøµÁuØPõÚ

{£¢uøÚ TÖ
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10. Write the components of time series.

Põ»® Œõº öuõhº Á›øŒ°ß TÖPøÍ GÊx.

Part B (5 × 5 = 25)

Answer all  the questions.

 11. (a) Write the characteristics of a good questionnaire.

(A) J¸ |À» ÂÚõzuõÒ •øÓ°Úx £s¦PøÍ

GÊxP.

Or

(b) Draw on suitable diagram to represent the

following data :

Item Family ‘A’ Family ‘B’

Food 240 300

Clothing 160 300

Rent 80 200

Other expenses 200 400
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ö£õ¸Ò Sk®£®  ‘A’ Sk®£® ‘B’

EnÄ 240 300

xo 160 300

ÁõhøP 80 200

Cuµ öŒ»ÄPÒ 200 400

@©ØPsh ÂÁµ[PÐUS uS¢u Áøµ£h[PøÍ

Áøµ¯Ä®.

12. (a) Calculate the mode

Annual profit 10-19 20-29 30-39 40-49 50-59

(Rs. crores)

No. of companies 12 15 16 17 10

Á¸h »õ£® 10-19 20-29 30-39 40-49 50-59

{ÖÁÚ[PÎß 12 15 16 17 10

GsoUøP

@©ØPsh ÂÁµ[PÐUS •Pk PnUQkP.

Or
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(b) Daily earning in Rs. (x) of 10 coolies are given

calculate all the three mean deviations and the

corresponding relative measures.

x : 32 51 23 46 20 78 57 56 57 30

£zx T¼PÎß vÚŒ› Á¸©õÚ® Rs. (x)&À

öPõkUP¨£mkÒÍÚ ‰ßÖ ŒµõŒ›

Â»UP[PøÍ²® Auß öuõhº£õÚ

AÍÄPøÍ²® PnUQkP.

x : 32 51 23 46 20 78 57 56 57 30

13. (a) Types of correlation with suitable diagram

uS¢u Áøµ£hzxhß JmkÓÄ ÁøPPøÍ

ÂÍUSP.

Or



6 AF-2264

(b) Calculate the two regression equation from the
following data

x : 10 12 13 12 16 17

y : 40 38 43 45 37 43

Also Estimate y when x = 20.

x : 10 12 13 12 16 17

y : 40 38 43 45 37 43

@©ØPsh ÂÁµ[PÎß Cµsk öuõhº¦

@Põk Œ©ß£õkPøÍ²® PnUQkP.

@©¾® x = 20 GßÓ@£õx y-ß ©v¨ø£

©v¨¤kP

14. (a) Calculate Fixed Base and Chain  Base Index numbers

Year : 1995 1996 1997 1998 1999 2000

Price (Rs) : 20 25 30 33 44 55
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{ø»¯õÚ ©ØÖ® öuõhº Ai¨£øh SÔ±k

GsPøÍ PnUQkP.

Bsk : 1995 1996 1997 1998 1999 2000

Âø» : 20 25 30 33 44 55

Or

(b) From the following data calculate price index number by

(a) Paasche’s method (b) Fisher’s method.

Commodity Base year Current year

price quantity price quantity

A 12 40 16 50

B 14 50 18 40

C 16 20 19 30

D 18 10 16 20

E 10 10 15 20
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¤ßÁ¸® ÂÁµ[PÎ¼¸¢x (a) £õ#a^ì ©ØÖ®

(b) ¤éº SÔ±mk GsPøÍ PnUQkP.

ö£õ¸Ò Ai¨£øh Bsk {PÌÁõsk

Âø» AÍÄ Âø» AÍÄ

A 12 40 16 50

B 14 50 18 40

C 16 20 19 30

D 18 10 16 20

E 10 10 15 20

15. (a) Fit the trend line and estimate the trend values

Year : 1992 1993 1994 1995 1996 1997 1998 1999

Value : 47 53 50 46 41 39 40 36
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uS¢u @£õUS@Põk ©ØÖ® @£õUS @Põmk

©v¨¤øÚ RÌUPsh Â£µ[PÐUS Põs.

Bsk  : 1992 1993 1994 1995 1996 1997 1998 1999

©v¨¦ : 47 53 50 46 41 39 40 36

Or

(b) Calculate the season indices by ratio to removing average

method

Year QI QII QIII QIV

1993 30 81 62 119

1994 33 104 86 171

1995 42 133 99 221

1996 56 172 129 335

1997 67 201 136 302
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£¸Áa ‹ÇÀ SÔ±mk GsPøÍ ÂQu

C¯UP ŒµõŒ› •øÓ°À Põs.

Bsk QI QII QIII QV

1993 30 81 62 119

1994 33 104 86 171

1995 42 133 99 221

1996 56 172 129 335

1997 67 201 136 302

Part C (3 × 10 = 30)

Answer any three questions.

16. Explain the types of diagrams and their user

Áøµ£h[PÎß ÁøPPøÍ²® AÁØÔß

£¯ßPøÍ ÂÁ›.

17. Calculate the standard deviation for the following data

Class interval : 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 6 5 15 10 5 4 3 2
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RÌPsh Â£µ[PÐUS uµÂ»UP® GßÚ ?

Class interval : 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 6 5 15 10 5 4 3 2

18. Write the difference between correlation and

regression ?

JmkÓÄ ©ØÖ® öuõhº¦ @ÁÖ£õkPøÍ GÊxP.

19. Compute Index number using Fisher’s ideal formula and

show that it satisfies time reversal test and factor reversal

test

Commodity Basic year Current year

quantity price quantity price

A 12 10 15 12

B 15  7 20  5

C 24  5 20  9

D 5 16  5 14
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¤åºì Ii¯À ‹zvµzøu £¯ß£kzv

SÔ±mk Gs Põs. @©¾® CøÁ  Time

Reversal ©ØÖ® Factor Reversal Test-US®

ö£õ¸¢x® GÚUPõmk.

ö£õ¸Ò Ai¨£øh Bsk {PÌÁõsk

AÍÄ Âø» AÍÄ Âø»

A 12 10 15 12

B 15  7 20  5

C 24  5 20  9

D 5 16  5 14

20. Calculate the seasonal indices by the method of link relatives

for the following data

Quarter Quarterly Figures For Five Year

1983 1984 1985 1986 1987

I 45 48 49 52 60

II 54 56 63 65 70

III 72 63 70 75 83

IV 60 56 65 72 86
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£¸Áa ‹ÇÀ SÔ±mk Gsøn öuõhº

EÓÄ •øÓ°À Põs.

Põ»õsk I¢x BskPÎß Põ»õsk

¦ÒÎ ÂÁµ®

1983 1984 1985 1986 1987

I 45 48 49 52 60

II 54 56 63 65 70

III 72 63 70 75 83

IV 60 56 65 72 86

***
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B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

Third Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY —III

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 × 2 = 20)

Answer all the questions.

1. What do you mean by Flucluating capital ?

©õÖ£k® •uÀ Gß£x £ØÔ E©x P¸zx ̄ õx ?

2. What is Profit and Loss Appropriation Account ?

C»õ£ |mh¨ £QºÄU PnUS GßÓõÀ GßÚ ?

3. What is New Profit sharing ratio ?

¦v¯ C»õ£ £QºÄ ÂQu® GßÓõÀ GßÚ ?

AF-2265 BCC3C4
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4. What do you understand by the term Goodwill ?

‘|Øö£¯º’ GßÓ £u® £ØÔ }Âº AÔ¢ux ̄ õx ?

5. What is Memorandum Revaluation Account ?

SÔ¨¦ ©Ö©v¨¥mkU PnUS GßÓõÀ GßÚ ?

6. State the meaning of Amalgamation of Firm

{ÖÁÚ JßÔøn¨¦ Gß£uß ö£õ¸øÍ SÔ¨¤kP.

7. Give the meaning of Dissolution of Firm

{ÖÁÚU Pø»¨¦ Gß£uß ö£õ¸Ò u¸P.

8. What do you mean by sale of firm to a company ?

{ÖÁÚzøu {Ö©zvØS ÂØ£øÚ öŒ#Áx Gß£x

£ØÔ E©x P¸zx ̄ õx ?
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9. What is Piecemeal distribution ?

AÆÁ¨ @£õøu¯ £QºÄ GßÓõÀ GßÚ ?

10. What is Realisation account ?

wºÄU PnUS GßÓõÀ GßÚ ?

Part B (5 × 5 = 25)

Answer all questions.

 11. (a) X and Y share profits and losses in the ratio of 3 : 2

and from January 1, 2003, they admit Z who is to have

1
6  share of profit with a guaranteed minimum of

Rs. 25,000. X and Y continue to share profits as before,

but agree to guarantee any excess over 
1
6  of profit

going to Z in the ratio of 4 : 1 respectively. The profits

of the firm for the year was Rs. 1,20,000.

Prepare a Profit and Loss Appropriation account.
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GUì ©ØÖ® J# C»õ£ |mh[PøÍ 3:2 ÂQuzvÀ

£Qº¢x öPõÒQßÓÚº @©¾® áÚÁ› 1, 2003

AßÖ CÁºPÒ ‘CŒm’ Gß£Áøµ 
1
6 £[QØS

¹. 25,000 SøÓ¢u £mŒ C»õ£ EzvµÁõuzxhß

Tmhõsø©°À @Œº¢xU öPõshÚº. ‘GUì’
©ØÖ® J# •ß¤¸¢u £i@¯ C»õ£ £QºøÁ

öuõhº¢uÚº, BÚõÀ ‘CŒm’ØS QøhUS® 
1
6

£[QØS ªøP¯õÁøu 4 :1 ÂQuzvÀ

HØÖUöPõÒÍ J¨¦U öPõshÚº. CÆÁõsk

C»õ£® ¹. 1,20,000.

C»õ£ |mh £QºÄ P/S u¯õ›UP.

Or

(b) Write up the capital and current accounts of the
partners A and B from the following :

A B

Rs. Rs.

Capital on 1.1.2004 40,000 35,000

Current accounts on 1.1.04 (Cr.) 200 100

Drawings during the year 2004 8,000 7,000
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A B

Rs. Rs.

Interest on drawings 200 100

Share of profit for 2004 4,200 3,300

Interest on capital 6% 6%

Salary 3,600 Nil

RÌÁ¸® Â£µ® öPõsk H ©ØÖ® ¤ GßÓ

TmhõÎPÎß •uÀ ©ØÖ® |h¨¦U PnUSPøÍ

u¯õ›UP.

H ¤.

¹. ¹.

01.01.2004&À •uÀ 40,000 35,000

01.01.04&À |h¨¦U PnUSPÒ 200 100

Gk¨¦PÒ (|h¨£õsiÀ) 8,000 7,000

Gk¨¤ß «x Ámi 200 200

C»õ£¨ £[S 4,200 3,300

•uÀ «x Ámi 6% 6%

Œ®£Í® 3,600 Nil
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12. (a) Akila and Banu are partners sharing profits in the ratio
3 : 2. A new partner Chandra is admitted. Akila

surrenders 
1 th
5   share of her profit in favour of

Chandra and Banu 
2 th
5  of her share in favour of

Chandra. Calculate New ratio

AQ»õ ©ØÖ® £õÝ Gß£Áº 3 : 2 ÂQuzvÀ

C»õ£[PøÍ £Q¸® TmhõÎPÒ. Œ¢vµõ GßÓ

¦v¯ TmhõÎø¯ @ŒºzxU öPõshÚº. AQ»õ

AÁº £[QÀ 
1
5

&® £õÝ AÁºu® £[QÀ 
2
5 &®

Œ¢vµõÂØPõP Œµs öŒ#uÚº. ¦v¯ ÂQu®

PnUQkP.

Or

(b) A, B and C are partners sharing profits equally. They

admit D in to partnership for 1 th4  share in the future

profit. D is to bring in Rs. 9,000 for goodwill. No
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goodwill account appears in the books. They withdrew

half of the goodwill. Journalise, the transactions

related to Goodwill.

H, ¤ ©ØÓ® ] BQ@¯õº Œ© ÂQu TmhõÎPÒ.

CÁºPÒ ‘i’ Gß£Áøµ 1
4  £[QØS Tmhõs

ø©°À @ŒºzxU öPõshÚº. ‘i’ Gß£Áº

|Øö£¯¸UPõP ¹. 9,000 öµõUP©õP öPõsk Áµ

Â¸UQÓõº. PnU@PkPÎÀ |Øö£¯º HxªÀø».

CÁºPÒ |Øö£¯›À £õvø¯ Gkzxa öŒßÓÚº.

|Øö£¯º SÔzu |hÁiUøPPøÍ SÔ¨@£miÀ

£vP.

13. (a) A, B and C were partners sharing profits in the ratio

5 : 3 : 1. A retires from the firm Calculate the new

Profits sharing ratio and Gaining ratio.

H, ¤ ©ØÖ® ] BQ@¯õº 5 : 3 : 1 ÂQuzvÀ

C»õ£[PøÍ  £Q¸® TmhõÎPÒ. H Â»P¼ß

ö£õ¸mk ¦v¯ ÂQu® ©ØÖ® Buõ¯ ÂQu®

PõsP. 

Or
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(b) X and Y were partners. The partnership deed provide

interalia that

(i) The accounts be made upto December 31 each year.

(ii) The profits be divided as follows : : , :1 1X Y
2 3  and

reserve 
1
6 .

(iii) In the event of death of a partner, his representative be

entitled to

(1) The capital to his credit at the date of death.

(2) His portion of the reserve at the date of last Balance

Sheet.

(3) His portion of profits to the date of death based on the

average profits of the last three completed years.

(4) By way of goodwill his portion of the profits for the

three preceding completed years. On

31. 12. 2003,  the ledger balance were.
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Rs. Rs.

X’s capital 16,200 Stock 18,000

Y’s capital 10,800 Bills receivable 3,600

Reserve 5,400 Investments 9,000

Creditors 5,400 Cash 7,200
——— ———
37,800 37,800
——— ———

The profit for 3 years were 2001–Rs. 7,560;

2002 - Rs. 7020; 2003-Rs. 8100. Y died on 1 . 5. 04

Show the Account of Y’s executors.

X ©ØÖ® Y BQ@¯õº TmhõÎPÒ, Tmhõs -

ø©°ß ŒµzxUPÒ RÌÁ¸©õÖ.

(i) PnUSPÒ JÆöÁõ¸ Bsk® iŒ®£º 31 Áøµ

GÊu¨£k®.

(ii) C»õ£¨ £QºÄ ÂQu® GUì & 1
2 , J# & 1

3

©ØÖ® Põ¨¦ .1
6
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(iii) J¸ TmhõÎ°ß CÓ¨¤ß ö£õÊx AÁºu®

Áõ›”UPÐUS @Œµ @Ási¯øÁ.

(1) CÓ¨¦ @uv¯ßÖ AÁº PnUQÀ C¸¢u •uÀ.

(2) Ph¢u C¸¨¦ {ø»U SÔ¨£ßÖ EÒÍ Põ¨¤À

AÁº £[S.

(3) Ph¢u ‰ßÖ •Ê Bsiß ŒµõŒ› C»õ£

Ai¨£øh°À PnUQh¨£mh CÓ¨£ßÖ

Áøµ°»õÚ C»õ£zvÀ AÁº £[S.

(4) 31.12.03 AßÖ Áøµ°»õÚ ‰ßÓõsk

C»õ£zvÀ AÁºu® £[S |Øö£¯µõP. @£@µmk
C¸¨¦PÒ RÌÁ¸©õÖ.

¹. ¹.

GUì&ß •uÀ 16,200 ŒµUQµ¨¦ 18,000

J#&ß •uÀ 10,800 ö£ÖuØS›¯
©õØÖa^mk 3,600

Põ¨¦ 5,400 •u½kPÒ 9,000

PhÜ¢@uõº 5,400 öµõUP® 7,200

——— ————
37,800 37,800

——— ————
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‰ßÓõsk C»õ£[PøÍ 2001 & ¹. 7,560;

2002 & ¹. 7020; 2003 & ¹. 8,100. 01.05.2004 AßÖ

J# CÓ¢xÂmhõº.

J# AÁºPÎß Áõ›”PÒ PnUP PõmkP.

14. (a) The Balance Sheet of K, M and L who were sharing

profits in the ratio of 3 : 1 : 1, stood as follows on

31-12-06 that is the data of dissolution.

Liabilities Rs. Assets Rs.

Creditors 1,05,000 Sundry Assets 1,09,000

Capitals : K 15,000 L’s capital 21,000

M 10,000

———— ————
1,30,000 1,30,000

———— ————

The assets realised Rs. 79, 750, realisation expenses

were Rs. 2,000. Prepare necessary Ledger accounts

assuming that all partners are insolvent
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@P, G® ©ØÖ® GÀ BQ@¯õº  3 : 1 : 1 ÂQuzvÀ

C»õ[PøÍ £Q¸® TmhõÎPÎß 31.12.06

@uv°mh, Pø»¨¦, @uv, C¸¨¦ {ø»U SÔ¨¦

RÌÁ¸©õÖ.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

PhÜ¢@uõº 1,05,000 £Ø£»

öŒõzxUPÒ 1,09,000

•uÀPÒ : @P 15,000 GÀ&ß •uÀ 21,000

G® 10,000

———— ————
1,30,000 1,30,000

———— ————

öŒõzxUPÎß ÂØÖÁµÄ ¹. 79,750, wºÄa öŒ»Ä

¹. 2,000. AøÚzxU TmhõÎPÐ® ö|õizuÚº

GÚUöPõsk @£@µk u¯õ›UP.

Or
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(b) R.S and T share profits in the ratio of 3 : 2 : 1

on 31-12 -04 their Balance Sheet was as follows :

Liabilities Rs. Assests Rs.

Creditors 12,000 Machinery 25,000

General reserve 3,000 Stock 11,000

Capitals : R 20,000 Debtors 9,500

S 15,000 Good will 13,000

T 10,000 Cash 1,500

——— ————
60,000 60,000
——— ————

On the above date, the firm dissolved. The assets except

cash realised Rs. 60,000. The creditors were settled

at Rs. 11,500. Dissolution expenses amounted to

Rs. 800. Give necessary Ledger accounts.
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Bº. Gì ©ØÖ® i BQ@¯õº 3 : 2 : 1 ÂQuzvÀ

C»õ£[PøÍ £Q¸® TmhõÎPÒ. 31.12.04 AßÖ

CÁºPÎß C¸¨¦ {ø»U SÔ¨¦ RÌÁ¸©õÖ.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

PhÜ¢@uõº 12,000 C¯¢vµ® 25,000

ö£õxUPõ¨¦ 3,000 ŒµUQ¸¨¦ 11,000

•uÀ : Bº 20,000 PhÚõÎPÒ 9,500

Gì 15,000 |Øö£¯º 13,000

i 10,000 öµõUP® 1,500

——— ————

60,000 60,000

——— ————

@©ØTÔ¯ @uv°À {ÖÁÚ® Pø»UP¨£mhx.

öµõUP® uÂºzx ©ØÓ öŒõzxUPÒ ÂØÖ ÁµÄ

¹. 60,000. PhÜ¢@uõº ¹. 11,500 öPõsk

wºUP¨£mhx. Pø»¨¦a öŒ»ÄPÒ ¹. 800.

@uøÁ¯õÚ @£@µmkU PnUSPøÍ u¸P.
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15. (a) Write a note on Maximum Loss method of Piecemeal

distribution.

AÆÁ¨@£õøu¯ £QºÂß EaŒ£mŒ |mh •øÓ

£ØÔ J¸ SÔ¨¦ ÁøµP.

Or

(b) What are the various method of calculating purchase

consideration on sale of firm ?

{ÖÁÚ ÂØ£øÚ°À öPõÒ•uÀ ©Ö£¯ß

PnUQk® •øÓPÒ ̄ õøÁ ?

Part C (3 × 10 = 30)

Answer any three questions.

16. A and B started a partnership business on 1. 1.05. They

contributed Rs. 1,60,000 and Rs. 1,20, 000 respectively as

their capitals. The term of partnership deed were as

follows :

(i) Interest on capital and drawings at 12% p.a.
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(ii) A and B to get a monthly salary of Rs. 4,000 and 6,000

respectively.

(iii) Sharing of profits and losses will be in the ratio of

their capital contribution.

The profit for the year ended 31. 12. 05 before making above

appropriation was Rs. 2,00,600. The Drawings of A and B

were Rs. 80,000 and Rs. 1,00,000 respectively. Interest on

drawing amounted to Rs. 4,000 for A and Rs. 5,000 for B.

Prepare Profit and Loss appropriation account and Capital

account under Fixed capital method.

H ©ØÖ® ¤ 1.1.05 AßÖ J¸ Tmhõsø© Â¯õ£õµ®

öuõh[QÚº. CÁºPÒ ‰»uÚ©õP öŒ¾zv¯x

•øÓ@¯ ¹. 1,60,000 ©ØÖ® ¹. 1,20,000. Tmhõsø©a

ŒµzxUPÒ RÌÁ¸©õÖ.

(i) •uÀ ©ØÖ® Gk¨¤ß «x Ámi BsöhõßÖUS

12%.

(ii) H ©ØÖ® ¤ ö£Ó @Ási¯ ©õu Fv¯® •øÓ@¯

¹. 4,000 ©ØÖ®¹. 6,000.



17 AF-2265

(iii) •uÀ AÎ¨¦ ÂQuzvÀ C»õ£ |mh[PøÍ

¤›zxUöPõÒÁx.

31.12.2008 Ehß •iÁøh²® BsiÀ, @©Ø£i

ŒµzxUPÐUS •¢øu¯ C»õ£® ¹. 2,00,600.

H ©ØÖ® ¤ BQ@¯õ›ß Gk¨¦PÒ •øÓ@¯

¹. 80,000 ©ØÖ® ¹. 1,00,000. Cuß «x Ámi

H&ÂØS ¹. 4,000 @©¾® ¤&°ØS ¹. 5,000.

C»õ£ |mh £QºÄU PnUS u¢x {ø» •uÀ

•øÓ°À •uÀPÒ PnUS u¯õ›UP.

17. I and J were in partnership sharing profits in the ratio of

3 : 2. Their Balance Sheet on 30. 6. 04 was as follows.

Liabilities     Rs. Assets       Rs.

Capital account I 50,000 Machinery 20,000

J 45,000 Buildings 25,000

Creditors 25,000 Furniture 6,000
Stock 15,000

Debtors 30,000

Less
Provision2,000 28,000

Cash 26,000
———— ————
1,20,000 1,20,000

———— ————
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They want take K into partnership subject to

following :

(i) K pays Rs. 25,000 as capital for ¼th share in the

business.

(ii) Machinery is increased by 20% and building be

reduced to Rs. 20,000.

(iii) Provision for doubtful debts be increased to

Rs. 3,000.

(iv) An item of Rs. 2,000 included in sundry creditors is

not likely to be claimed.

(v) Certain investments to Rs. 13,000, not in above

balance sheet, be brought into account.

Show the Revaluation Account, Capital Account, and Balance

sheet
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I ©ØÖ® @á BQ@¯õº J¸ Tmhõsø©°À

C»õ£[PøÍ 3 : 2 ÂQuzvÀ £Qº¢x öPõÒQßÓÚº.

CÁºPÎß 31.06.04 @uv°mh C¸¨¦ {ø»U SÔ¨¦

RÌÁ¸©õÖ .

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

•uÀ PnUS I 50,000 C¯¢vµ® 20,000

@á 45,000 Pmhh[PÒ 25,000

PhÜ¢@uõº 25,000 ©øÚ¯øn¯[PÒ 6,000

ŒµUQ¸¨¦ 15,000

PhÚõÎPÒ 30,000

PÈUP :
JxUS 2,000 28,000

öµõUP® 26,000

———— ————
1,20,000 1,20,000

———— ————

CÁºPÒ @P Gß£Áøµ RÌÁ¸® ŒµzxUPÒ£i

Tmhõsø©°À @ŒºzxöPõÒÍ Â¸®¤Úº :

(i) ¹. 25,000 •u»õP ¼ £[QØS ‘@P’ öŒ¾zu

@Ásk®.

(ii) C¢vµ® 20% ©v¨@£ØÓ® öŒ#¯@Ásk® @©¾®

Pmhh[PÒ ¹. 20,000& ØS SøÓUP¨£h

@Ásk®.
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(iii) ÁõµõI¯U Phß JxUS ¹. 3,000&ØS E¯ºzu

@Ásk®.

(iv) PhÜ¢@uõ›À EÒÍ J¸ ¹.2,000 öŒ¾zu

@Ási°¸UPõx.

(v) SÔ¨¤mh J¸ •u½kPÒ ¹. 13,000 @©ØTÔ¯

C¸¨¦ {ø»U SÔ¨¤À CÀ»õuøÁ PnUQÀ
öPõsk Áµ@Ásk®.

©Ö©v¨¥mk PnUS, •uÀ PnUS, ©ØÖ®
C¸¨¦ {ø»U SÔ¨¦ PõmkP.

18. Sundar, Suresh and Sankar were partners sharing profits in

the ratio of 3 : 2 : 1 respectively. On 31.3.2008 their Balance

Sheet stood as follows.

Liabilities Rs. Assets Rs.

Creditors 1,90,000 Cash 25,000

Bills payable 50,000 Debtors 1,60,000

General  Reserve 1,20,000 Less

Capital : Sundar 4,00,000   Provision5,000 1,55,000
Suresh 3,00,000 Machinery 4,30,000

Sankar 2,50,000 Premises 4,50,000
———— ————
13,10,000 13,10,000
———— ————
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Suresh retires on that date on thefollowing adjustment :

(i) To raise reserve for bad debts by Rs. 19,500.

(ii) Good will of the firm is to be valued at Rs. 1,80,000

(iii) To depreciate machinery by 10 %.

(iv) To increase the value of stock by Rs. 30,000.

(v) To increase the premises value by 10%

Sundar and Sankar decided to write off firm’s goodwill. The

new profit sharing ratio is 3 : 2 Prepare Revaluation  Account.

Capital Account, and Balance Sheet.

”¢uº, ”@µè ©ØÖ® Œ[Pº BQ@¯õº C»õ£[PøÍ

3 : 2 : 1 ÂQuzvÀ £Q¸® TmhõÎPÒ. 31.03.08 AßÖ

CÁºPÎß C¸¨¦ {ø»U SÔ¨¦ RÌÁ¸©õÖ.

ö£õÖ¨¦PÒ          ¹. öŒõzxUPÒ             ¹.

PhÜ¢@uõº 1,90,000 öµõUP® 25,000
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ö£õÖ¨¦PÒ          ¹. öŒõzxUPÒ             ¹.

öŒ¾zxuØS›¯ PhÚõÎPÒ 1,60,000

©õØÖa^mk 50,000 PÈUP : JxUS  5,000
1,55,000

ö£õxUPõ¨¦ 1,20,000 ŒµUQ¸¨¦ 2,50,000

•uÀPÒ : ”¢uº 4,00,000 C¯¢vµ® 4,30,000

”@µè 3,00,000 ÁÍõP® 4,50,000

Œ[Pº 2,50,000

———— ————
13,10,000 13,10,000

———— ————

Œ@µè Â»S® C¢uz@uv°À öŒ#¯@Ási

Œ›UPmkuÀPÒ.

(i) ÁµõUPhß JxUS ¹. 19,500 BÀ E¯ºzu¨£h

@Ásk®.

(ii) {ÖÁÚ |Øö£¯º ¹. 1,80,000 GÚ ©v¨¤h¨£h

@Ásk®.

(iii) C¯¢vµ® 10% @u#©õÚ® GÊu¨£h@Ásk®.

(iv) ŒµUQ¸¨¦ ¹. 30,000 BÀ E¯ºzuÄ®

(v) ÁÍõPzvß ©v¨¦ 10% E¯ºzuÄ®.
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”¢uº ©ØÖ® Œ[Pº u[PÒ {ÖÁÚzvÀ |Øö£¯øµ

@£õUöPÊu •iÄ öŒ#uÚº. ¦v¯ ÂQu® 3 : 2.

©Ö©v¨¥mk PnUS •uÀ PnUS, C¸¨¦

{ø»USÔ¨¦ u¯õ›UP.

19. Following was the Balance Sheet of A and B on 31.3.2007

Liabilities Rs. Assets Rs.

Current liabilities 30,000 Fixed assets 1,00,000

General reserve 36,000 Stock 60,000

Capital: A 1,00,000 Debtors 25,000

B 64,000 Reserve 1,000   24,000

Bills receivable 20,000

Bank 26,000

———— ————
2,30,000 2,30,000

———— ————

P Ltd., acquried this business on the above date on the

following terms :

(i) Fixed assets to be valued at 20 % more than book value.
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(ii) Stock to be valued at 90 % of book value.

(iii) Reserve for bad debts to be 10% on debtors.

(iv) The purchase consideration was to be settled by the

issue of 20,000 equity shares of Rs. 10 each valued at

Rs. 12 each.

Pass journal entries and show the Ledger accounts  to

close the book of the firm.

31.03.2007 AßÖ H ©ØÖ® ¤ BQ@¯õ›ß C¸¨¦ {ø»U

SÔ¨¦ RÌÁ¸©õÖ.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹.

|h¨¦  ̈ö£õÖ¨¦PÒ 30,000 {ø»aöŒõzxUPÒ 1,00,000

ö£õxU Põ¨¦ 36,000 ŒµUQ¸¨¦ 60,000

•uÀPÒ : H 1,00,000 PhÚõÎPÒ25,000

¤ 64,000 Põ¨¦ 1,000   
24,000

ö£ÖuØS›¯
©õØÖa^mk 20,000

Á[Q 26,000

———— ————

2,30,000 2,30,00
———— ————
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RÌÁ¸® ŒµzxUPÒ £i @©Ø£i @uv°À C¢{ÖÁÚzøu ¤ ¼m

Áõ[QUöPõshx :

(i) {ø»a öŒõzxUPÒ Auß Hmk ©v¨¤¼¸¢x 20%

AvP›UPÄ®.

(ii) ŒµUQ¸¨¦ Hmk ©v¨¤À 90% GÚ ©v¨¤hÄ®.

(iii) ÁµõUPhß Põ¨¦ PhÚõÎPÒ «x 10% GÚÄ®

(iv) u»õ ¹. 10 ©v¨¦ÒÍ 20,000 Œ© £[SPøÍ u»õ ¹. 12 GßÓ

©v¨¤À öÁÎ°mk öPõÒ•uÀ ©Ö£¯ß PnUS

wºUP¨£h @Ásk®.

{ÖÁÚ HkPÎÀ SÔ¨@£mk £vÄPÒ u¢x® @£@µmkU

PnUSPÒ u¯õ›zx® HkPøÍ •iUPÄ®.

20. Explain the rules laid down in Garner Vs Murray case.

PõºÚº Gvº •º@µ ÁÇUS ‰»® Ch¨£mh ÂvPøÍ ÂÍUSP.

***
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B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Fourth Semester

Commerce with Computer Applications
E-COMMERCE AND INTERNET

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part - A                (10 × 1½= 15)

Answer all questions.

1. What is E-Commerce?

ªß ÁoPÂ¯À GßÓõÀ GßÚ?

2. What do you mean by Media Convergence?

Media Convergence& Gß£uß ö£õ¸Ò ̄ õx?

3. What is WWW?

WWW GßÓõÀ GßÚ?

AF-2266 BCC4C1
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4. What is EPS?

EPS GßÓõÀ GßÚ?

5. What is EDI?

EDI GßÓõÀ GßÚ?

6. What do you understand by supply chain

management?

Supply chain management SÔzx }Ãº AÔÁx ̄ õx?

7. Define Internet.

Cøn¯uÍ® Áøµ¯Ö.

8. What is port number?

÷£õºm Gs GßÓõÀ GßÚ?
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9. What is DHTML?

DHTML & GßÓõÀ GßÚ?

10. What is Java Script?

Java Script GßÓõÀ GßÚ?

Part - B                    (5 × 3 = 15)

Answer all the questions.

11. a) Explain about I-way components.

I-way EÖ¨¦PÒ SÔzx ÂÍUSP.

(OR)

b) What are the equipments used to access the

network?

Network&ø¯ access ö\´¯ £¯ß£kzx®

P¸ÂPÒ ̄ õx?
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12. a) What do you understand by Hybertext

publishing?

Hybertext publishing SÔzx }Ãº AÔÁx ̄ õx?

(OR)

b) Explain smart cards.

Smart cards £ØÔ ÂÍUSP.

13. a) Explain the role of EDI in E-commerce.

ªß&ÁoPÂ¯¼À EDI&°ß £[QøÚ ÂÍUSP.

(OR)

b) State the features of Corporate Data warehouses.

Corporate Data warehouse&°ß ]Ó¨¤¯À¦PøÍ

TÖP.
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14. a) What are the various Hardware requirement of

Internet?

Cøn¯uÍzvß £À÷ÁÖ ÁøP¯õÚ íõºk÷Áº

÷uøÁPÒ ̄ õx?

(OR)

b) Write short notes on Web - pages - protocol.

Web - pages - protocol SÔzx ]Ö SÔ¨¦ ÁøµP.

15. a) What is Style Sheets? What are its uses?

Style Sheets GßÓõÀ GßÚ? Auß £¯ß£õkPÒ

¯õøÁ?

(OR)
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b) How do you create simple Java Script?

GÎø©¯õÚ Java Script&ø¯ GÆÁõÖ

E¸ÁõUSÁõ´.

Part - C                    ( 3 × 10 = 30)

Answer any three questions.

16. Briefly explain the various applications of

E-commerce.

ªß & ÁoPÂ¯¼ß £À÷ÁÖ £¯ß£õkPøÍ ÂÁ›.

17. Explain about credit card based EPS.

Phß Amøh \õº¢u EPS  SÔzx ÂÍUSP

18. Discuss about EDI software implementation.

EDI software implementation SÔzx ÂÁõv.
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***

19. Write note on Internet Service provider.

Internet Service provider SÔzx SÔ¨¦ ÁøµP.

20. How can you use Java Script with Style Sheet?

Java Script&ø¯ Style Sheet&Ehß GÆÁõÖ

£¯ß£kzxÁõ´?
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B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Fourth Semester

Commerce with Computer Application
VISUAL BASIC PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part - A                (10 × 1-1/2 = 15)

Answer all the questions.

1. Write any three common form properties.

Form&ß ö£õxÁõÚ properties H÷uÝ® ‰ßÖ GÊxP.

2. What is the use of F4 key?

F4 key&ß £¯ß GßÚ?

3. State True or False: Base-1 is a variable name.

\› AÀ»x uÁÖ PõsP. Base-1 Gß£x variable&ß

ö£¯º.

AF-2267 BCC4C2
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4. Write any two special properties for Text Boxes?

Text Box&ß ]Ó¨¦ properties H÷uÝ® Cµsk GÊxP.

5. Write the syntax of Dim Statement.

Dim Statement&ß ö£õxÁiÁ® GÊxP.

6. How can you assign Arrays?

Arrays&I GÆÁõÖ assign ö\´Áõ´?

7. Write the syntax of Load Statement.

Load Statement&ß ö£õx ÁiÁ® GÊxP.

8. How can you add Flex Grid Control?

Flex Grid Control&I GÆÁõÖ ÷\º¨£õ´?
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9. Write one example to User defined records.

User defined records&US J¸ Euõµn® GÊxP.

10. What is a Header?

Header GßÓõÀ GßÚ?

Part - B                    (5 × 3 = 15)

Answer all questions.

11. a) Discuss about the Color properties.

Color properties £ØÔ ÂÁõvUPÄ®.

(OR)

b) Write a short notes on message box.

Message box £ØÔ ]Ö SÔ¨¦ GÊxP.
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12. a) Explain the Visual Basic data types.

Visual Basic&ß data types £ØÔ ÂÍUSP.

(OR)

b) What is the use of Input box? Explain.

Input box&ß £¯ß GßÚ? ÂÍUSP.

13. a) Explain the Load and Unload Statements.

Load ©ØÖ® Unload Statements&I ÂÍUSP.

(OR)

b) Write about the one-dimensional Arrays.

One-dimensional Arrays £ØÔ GÊxP.
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14. a) Briefly explain the Combo boxes.

Combo boxes £ØÔ Â›ÁõP ÂÍUSP.

(OR)

b) Write about the ‘Enums’.

‘Enums’ £ØÔ GÊxP.

15. a) How can you modifying a Report Title?

Report&ß uø»¨ø£ GÆÁõÖ ©õØÖÁõ´?

(OR)

b) What is a Footer? Explain.

Footer GßÓõÀ GßÚ? ÂÍUSP.
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Part - C                    ( 3 × 10 = 30)

Answer any three questions.

16. Draw the Properties window and explain.

 Properties window&ß £h® Áøµ¢x ÂÍUSP.

17. Write one example for Select........case statement and

explain.

Select........case statement&US J¸ Euõµn® GÊv

ÂÍUSP.

18. How can you using Arrays with function?

Function-ÀArrays&I GÆÁõÖ E£÷¯õP¨

£kzxÁõ´?

19. Briefly explain the Flex grid controls.

Flex grid controls £ØÔ Â›ÁõP ÂÍUSP.
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20. What are all the steps used to creating a report with

a Database?

Database Ehß report u¯õ›¨£uØPõÚ ÁÈPÒ

GßÚ?

***
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B.Com. (C.A)  DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY—IV

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                Part A                       (10 × 2 = 20)

Answer all questions.

1. What is Contract Account ?

J¨£¢uU PnUS GßÓõÀ GßÚ ?

2. What is work certified ?

ŒõßÓÎUP¨£mh £o GßÓõÀ GßÚ ?

AF-2268    BCC4C3
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3. What is Royalty ?

SzuøP GßÓõÀ GßÚ ?

4. What is shortworking ?

SøÓ EØ£zv GßÓõÀ GßÚ ?

5. What is Hire Purchase system ?

ÁõhøP öPõÒ•uÀ •øÓ GßÓõÀ GßÚ ?

6. What is Cash price ?

öµõUP Âø» GßÓõÀ GßÚ ?

7. What is fully secured creditors ?

•ÊÁx® £õxUPõ¨£õÚ PhÜ¢@uõºPÒ ̄ õº ?
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8. What is Deficiency Account ?

£ØÓõUSøÓ PnUS GßÓõÀ GßÚ ?

9. What is meant by Inter-Departmental transfer ?

xøÓPÐUQøh¯õÚ ©õØÓ® Gß£uß ö£õ¸Ò ̄ õx ?

10. What is Independent Branch ?

uÛzv¯[S® QøÍ GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) The following was the expenditure on a contract

for Rs.6,00,000. Material Rs. 1,20,000; Wages

Rs. 1,64,400; Plant Rs. 20,000, Business charges

Rs.8,600.

Cash received amounted to Rs. 2,40,000 being 80%

of work certified. Materials on hand at the end of

the period was Rs.10,000. Plants to be depreciated

by 10%. Prepare the Contract account.
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¹. 6,00,000 Âø» öPõsh J¸ J¨£¢uzvÀ

RÌPsh öŒ»ÄPÒ HØ£mhÚ. ‰»¨ö£õ¸Ò

¹. 1,20,000 T¼ ¹.1,64,400 C¯¢vµ® ¹. 20,000

Â¯õ£õµa öŒ»Ä ¹. 8,600. ŒõßÓÎUP¨£mhzvÀ

80% BP ¹. 2,40,000 öµõUP©õP¨ ö£Ó¨£mhx.

Põ» •iÂÀ ¹. 10,000 ©v¨¦ÒÍ ‰»¨ ö£õ¸Ò

C¸¨¤À EÒÍx. C¯¢vµzvØS 10% @u#©õÚ®

JxUPÄ®, J¨£¢uU PnUSz u¯õ›UPÄ®.

(Or)

(b) State the features of  Contract Account.

J¨£¢u PnUQß ]Ó¨¤¯À¦PøÍ TÖP.

12. (a) A colliery is leased to National Coal Syndicate on

a royalty of Re. 1 per tonne on the output. A

minimum rent of Rs.60,000 a year and allowances

for shortworking are to be recouped within five

years of the lease. The coal actually raised in a

series of years is as follows :
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Tonnes

Ist year 8,000

2nd year 10,000

3rd year 18,000

4th year 28,000

5th year 14,000

Draw up Royalty account and Landlord’s account.

@u]¯ {»UP› {ÓÁÚzuõº J¸ ”µ[Pzøu

SzuøPUS Gkzuõº. E›ø©z öuõøP¯õP hß

JßÖUS ¹.1 {ºn¯® öŒ#¯¨£mkÒÍx.

SøÓ¢u £mŒ ÁõhøP Á¸hzvØS ¹. 60,000.

SøÓ EØ£zvø¯ «mS® E›ø© •uÀ I¢x

Á¸h[PÐUS EÒÍÚ. •uÀ I¢x BskPÎß

EØ£zv Â£µ®.
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•u»õ® Bsk 8,000 hß

Cµshõ® Bsk 10,000 hß

‰ßÓõ®  Bsk 18,000 hß

|õßPõ® Bsk 28,000 hß

I¢uõ® Bsk 14,000 hß

E›ø©z öuõøP P/S, {»UQÇõº P/S u¯õº

öŒ#¯Ä®.

(Or)

(b) Ramu took a lease of mine for a period of 20 years.

Royalty is Re.1 per ton subject to a minimum rent

of Rs. 12,000 p.a. The shortworkings are recouped

during the first 3 years of lease. The output was

2004-Nil; 2005–4000 tons; 2006–20,000 tons and

2007–40,000 tons. Prepare Analystical table.
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µõ• J¸ ”µ[Pzøu 20 BskPÐUS SzuøPUS

Gkzx EÒÍõº. E›ø©z öuõøP J¸ hßÝUS

¹. 1 Ãu® SøÓ¢u £mŒ ÁõhøP BskUS

¹.12,000 GÚ GkzxU öPõÒÍ¨£kQÓx. SøÓ¢u

EØ£zv •uÀ ‰ßÖ BskPÎÀ v¸®£¨ ö£Ó

ÁøP öŒ#¯¨£mkÒÍx. EØ£zv Â£µ® :

2004--&Nil, 2005&4000 hß, 2006&20,000 hß,

2007& 40,000 hß ÂÍUP¨£mi¯À JßøÓz u¯õº

öŒ#P.

13. (a) Miss. Janaki purchased a machine on hire

purchase system. Rs.3,000 paid on delivery and

the balance in five instalments  of Rs. 6000 each

payable annually on 31st December. The cash

price of the machine was Rs. 30,000. Calculate the

amount of interest for each year.
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öŒÀÂ. áõÚQ J¸ C¯¢vµzøu ÁõhøP

öPõÒ•uÀ •øÓ°À Áõ[SQßÓõº.

Áõ[Q¯Ähß ¹.3,000 zøu²®, «vz öuõøPø¯

I¢x uÁønPÎÀ ¹.6,000 Ãu® JÆöÁõ¸

Bsk® iŒ®£º 31&À öŒ¾zxQßÓÚº.

C¯¢vµzvß AhUPÂø» ¹.30,000. JÆöÁõ¸

BsiØPõÚ Ámiø¯U PnUQkP.

(Or)

(b) I buy a television on Hire purchase system. The

terms of payment are as follows :

Rs. 2000 to be paid on signing the agreement;

Rs. 2800 at the end of the first year.

Rs. 2600 at the end of the second year;

Rs. 2400 at the end of third year;

Rs. 2200 at the end of the fourth year;

If interest is charged at the rate of 10% p.a., what was

the cash value of the television ?
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|õß ÁõhøP öPõÒ•uÀ •øÓ°À, J¸ öuõø»U

Põm]¨ ö£mi Áõ[Q@Úß. öŒ¾zxuÀ

Áøµ•øÓ ¤ßÁ¸©õÖ :

¹. 2,000 J¨£¢u® øPö¯Êzvk® ö£õÊx

öŒ¾zu @Ásk®.

¹. 2,800 •uÀ Á¸h •iÂÀ.

¹. 2,600 Cµshõ® Á¸h •iÂÀ.

¹. 2,400 ‰ßÓõ® Á¸h •iÂÀ.

¹. 2,200 |õßPõ® Á¸h •iÂÀ.

Ámi Á¸hzvØS 10% Ãu® ÂvzuõÀ,

öuõø»UPõm]¨ ö£mi°ß öµõUP ©v¨¦ GßÚ?

14. (a) When a person can be declared as insolvent ?

G¨ö£õÊx J¸ |£º ö|õizx¨ @£õÚÁµõP

AÔÂUP»õ® ?

(Or)
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(b) Write short notes on :

(i) Preferential creditors.

(ii) Deficiency account.

]Ö SÔ¨¦ u¸P :

(i) •ßÝ›ø© PhÜ¢@uõº.

(ii) £ØÓõUSøÓ PnUS.

15. (a) The following information relates to Madurai

Branch :

Rs.

Stock on 1.1.94 11,200

Branch debtors on 1.1.94 6,300

Goods sent to Branch 51,000

Cash sent for Branch for :

Rent 1,500

Salaries 3,000

Petty cash 500 5000
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Sales at branch :

Cash 25,000

Credit 39,000 64,000

Cash received from debtors 41,200

Stock on 31.12.94 13,600

Prepare Branch account for the year 1994.

©xøµU QøÍ°ß Â£µ[PÒ RÌUPshÁõÖ

EÒÍx.

¹.

ŒµUQ¸¨¦ 1.1.94 11,200

QøÍ°ß PhÚõÎPÒ 1.1.94 6,300

QøÍUS AÝ¨¤¯ ŒµUS 51,000

QøÍUS AÝ¨¤¯ öµõUP® :

ÁõhøP 1,500

Œ®£Í® 3,000

]À»øµ öµõUP® 500 5,000
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QøÍ°ß ÂØ£øÚ :

öµõUP® 25,000

Phß 39,000 64,000

PhÚõÎPÎh® ö£ØÓ öµõUP®41,200

ŒµUQ¸¨¦  31.12.94 13,600

 1994-UPõÚ QøÍU PnUøPz u¯õ›UP.

(Or)

(b) The following is the information relating to the

business having three departments.

Dept Purchases Opening stock Closing stock

A ... 1500 units 200 units 100 units

B ... 1000 units 300 units 160 units

C ... 2000 units 150 units 200 units
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Additional information :

(i) Purchases were made at a total cost of Rs. 92,000.

(ii) The percentage of gross profit on turnover is the

same in each case.

(iii) Purchases and sales prices and constant for the

last two years.

(iv) Selling price per unit :

Dept. Price [Rs.]

A ... 20

B ... 25

C ... 30

You are required to prepare departmental trading

account assuming that there is no opening and closing

stock and all the units purchased are sold at their

respective departmental prices.
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J¸ {ÖÁÚzvß ‰ßÖ xøÓPøÍ¨ £ØÔ¯

Â£µ[PÒ ¤ßÁ¸©õÖ.

xøÓ öPõÒ•uÀ xÁUPa CÖva

ŒµUQ¸¨¦ ŒµUQ¸¨¦

A ... 1500 A»SPÒ 200 A»SPÒ 100 A»SPÒ

B ... 1000 A»SPÒ 300 A»SPÒ 160 A»SPÒ

C ... 2000 A»SPÒ 150 A»SPÒ 200 A»SPÒ

TkuÀ uPÁÀPÒ :

(i) öPõÒ•uÀ öŒ#¯¨£mhx ö©õzu® ¹. 92,000.

(ii) AøÚzxz xøÓPÐUS® ÂØ£øÚ «uõÚ ö©õzu

C»õ£ ÂQu® Jß@Ó.

(iii) Ph¢u Cµsk BskPÎÀ öPõÒ•uÀ ©ØÖ®

ÂØ£øÚ Âø»PÎÀ ©õØÓ® CÀø».

(iv) J¸ A»Qß ÂØ£øÚ Âø»  :
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xøÓ Âø» [¹.]

A ... 20

B ... 25

C ... 30

xÁUPa ŒµUQ¸¨¦® CÖva ŒµUQ¸¨¦® CÀø»

GßÖ® öPõÒ•uÀ öŒ#¯¨£mh ŒµUSPÒ AøÚzx®

A¢u¢uz xøÓPÎÀ ÂØ£øÚ Âø»PÎÀ

ÂØP¨£mk ÂkQßÓÚ GßÖ® AÝ©õÚ® öŒ#x

öPõsk xøÓÁõ› Â¯õ£õµU PnUøPz u¯õ›UPÄ®.

Part C (3 × 10 = 30)

Answer any three questions.

16. The following particulars related to a contract

undertaken by Ajit Engineer. Materials sent to site

Rs. 85,349; Labour engaged on site Rs. 74,375; Plant

installed at site Rs. 15,000; Direct expenditure Rs.3,167;

Establishment charges Rs.4,126; Materials returned to

stores Rs. 549; Work certified Rs.1,95,000; Cost of work

not certified Rs.4,500; Materials in hand at the end of

year Rs. 1,883; Wages accured due at the end of year
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Rs. 2,400 Direct expenditure due at the end of year

Rs.240; Value of plant at end of  the year Rs.11,000;

The contract price has been agreed at Rs. 2,50,000;

Cash received from the contractee Rs. 1,80,000.

Prepare contract account and balance sheet of the

contractors.

Aâz ö£õÔ¯õÍºPÒ Gkzu öPõsh J¨£¢u®

Œ®£¢u©õÚ Â£µ[PÒ ¤ßÁ¸©õÖ.

C¸¨¤hzvØS Áõ[P¨£mh ŒµUSPÒ ¹.85,349;

C¸¨¤hzvÀ @Áø»¯õÒ öŒ»Ä ¹. 74,375;

C¸¨¤hzvÀ {ÖÁ¨£mh uÍÁõh® öŒ»Ä ¹.15,000;

@|µia öŒ»ÄPÒ ¹. 3,167; {ÖÁÚa öŒ»ÄPÒ ¹. 4,126

ŒµUSPÒ Qh[QØS v¸®¤¯x ¹.549;

ŒõßÓÎUP¨£mh £o ¹. 1,95,000; ŒõßÓÎUP¨£hõu

£o°ß AhUPÂø» ¹.4,500; ŒµUSPÒ øP°¸¨¦

Á¸h •iÂÀ 1,883; Á¸h •iÂÀ öPõk£h @Ási¯

T¼ ¹. 2,400; Á¸h•iÂÀ öPõk£h @Ási¯

@|µia öŒ»Ä ¹. 240;  Á¸h •iÂÀ uÍÁõh® ©v¨¦

¹. 11,000; Œ®©vzu J¨£¢u Âø» ¹. 2,50,000;
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J¨£¢u® AÎzuÁ›hª¸¢x ö£Ó¨£mh £n®

¹. 1,80,000.

J¨£¢u PnUøP²®, C¸¨¦{ø»U SÔ¨¤À

£vÄPøÍ²® J¨£¢uUPõµº HkPÎÀ u¯õº öŒ#P.

17. Mr. Boss wrote a book on costing and got it published

with Kalyani & Co. on the terms given below :

(a) Royalty will be paid at Rs. 10 per copy sold.

(b) Minimum rent is Rs. 30,000.

(c) Right of Recoupment of shortworking over the first

three years of Royalty agreement :

Other information :

Year No.of copies printed Closing stock

1992 ... 2200 200

1993 ... 3000 400

1994 ... 5000 800

1995 ... 7000 1000

Prepare the necessary Ledger Accounts in the books of

the Publishers.
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v¸. £õì Gß£Áº AhUPÂø» PnUS¨ ¦zuPzøu

GÊv Aøu PÀ¯õo ¦zuP öÁÎ±mk {Ö©zvß

‰»® ]» ÂvPÐhß öÁÎ°kQßÓx. AøÁPÒ

¤ßÁ¸©õÖ.

(A) J¸ ¦zuPzvØS ¹. 10 Ãu E›ø©z öuõøP

ÁÇ[P¨£h @Ásk®.

(B) JÆöÁõ¸ Bsk® ¹. 30,000 SøÓ¢u AÍÄ

ÁõhøP¯õP ÁÇ[SuÀ @Ásk®.

(C) JÆöÁõ¸ Bsiß EÒÍ£i¯õÚ E›ø©

öuõøPø¯ ªg]¯ SøÓ¢u AÍÄ ÁõhøP

öuõøP •uÀ ‰ßÖ Á¸h[PÎÀ

Œ›PmkuÀ @Ásk®.

¤Ó uPÁÀPÒ  :

Á¸h® Aa]mh ¦zuPzvß ÂØPõu ¦zuPzvß

GsoUøP GsoUøP

1992 ... 2200 200

1993 ... 3000 400

1994 ... 5000 800

1995 ... 7000 1000

£v¨£õÍ›ß ¦zuPzvÀ EÒÍ @£@µmkU PnUSPøÍ

u¸P.
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18. Malan purchased a machine on hire  purchase system

on 1st January 2003. The terms of payment are four

annual instalments of Rs.12,690 at the end of each year.

Interest is charged @ 5% and is included in the annual

payment of Rs. 12,690.

Show machinery account and hire vendor account

in the books of Malan who defaulted in the payment of

the third yearly payment whereupon the vendor

repossessed the machinery. Malan provides

depreciation on the machinery @ 10% p.a., on the

reducing balance.

2003, áÚÁ› 1&À, ©õ»ß ÁõhøP öPõÒ•uÀ

vmhzvÀ J¸ C¯¢vµ® Áõ[QÚõº. öŒ¾zxuÀ Áøµ

•øÓ°ß £i |õßS Á¸h[PÐUS JÆöÁõ¸ Á¸h

CÖv°¾®, Á¸hz uÁøn¯õP ¹.12,960 öŒ¾zu

@Ásk®. Ámi 5% Ãu® ÂuUP¨£mk, Á¸hz

öuõøP¯õÚ ¹. 12,690&À @Œº¢xÒÍx.

©õ»ß ‰ßÓõÁx Á¸hz uÁønø¯ öŒ¾zuz

uÁÔ¯uõÀ, ÂØ£øÚ¯õÍº C¯¢vµzøu v¸®£¨

ö£ØÖU öPõshõº. ©õ»Ýøh¯ HkPÎÀ C¯¢vµU

PnUS ©ØÖ® ÁõhøP ÂØ£øÚ¯õÚº PnUS

PõmhÄ®. ©õ»ß Á¸hzvØS 10% SøÓ¢x öŒÀ

C¸¨¦ •øÓ°À @u#©õÚ® JxUSQÓõº.

mailto:@���x��x.
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19. Kanthan of Madras finds himself insolvent. From the

following particulars, prepare a statement of affairs.

– Free hold Property [Expected to realise

Rs. 25,000]— Rs. 36,000.

– Machinery [Expected to realise Rs.10,000] —

Rs. 45,000.

– Stock in Trade [Market value Rs. 56,000]

— Rs.65,000.

– Book debts —Good —  Rs.10,000.

– Doubtfull [Expected to realise 60%]— Rs. 20,000.

– Bad debts — Rs. 6,000.

– S. Creditors for goods supply —1,11,000.

– Loan creditors [having mortgage on building]

– Rs.20,000.

– Bank O/D [having a lien on stock]— Rs. 70,000.

– Bills of exchange [all good]— Rs. 8,000.
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– Bills of exchange discounted —Rs.  5,000.

[Of which Rs. 2,000 are expected to dishonour]

– Shares in ‘A’ Ltd [Market value Rs. 3,500]— 2,000.

– Cash in hand — Rs. 100.

– Five months salary due to a clerk —Rs. 750.

– Taxes due to Government —  Rs. 150.

öŒßøÚ°¾ÒÍ P¢uß vÁõÀ BQßÓõº.R@Ç EÒÍ

ÂÁµ[PøÍU öPõsk Kº {ø»ø© AÔUøP u¯õ›UP.

– ÂÀ»[PªÀ»õa öŒõzxUPÒ ¹. 25,000-- - - -&US

ÂØP»õ® GÚ Gvº£õºUP¨£mhx — ¹.36,000.

– C¯¢vµ® [¹.10,000-US ÂØP»õ® GÚ GÚ

Gvº£õºUP¨£mhx]— ¹. 45,000.
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– ŒµUQ¸¨¦  [Œ¢øu ©v¨¦ ¹. 56,000]— ¹. 65,000.

– Hmk PhÚõÍºPÒ —|À»øÁ —  ¹.10,000.

– I¯UPhß[ 60% Á‹»õP»õ®]— ¹. 20,000.

–  ÁµõU Phß — ¹.6,000.

– ö£õ¸Ò ÁÇ[Q¯ PhÜ¢@uõº — ¹. 1,11,000.

– PhÜ¢@uõº [Pmih® «x £ØÖ›ø©] – ¹. 20,000.

– Á[Q @©ÀÁøµ¨ £ØÖ  [ŒµUS «x £ØÖ›ø©]

— ¹.70,000.

– ö£ÖuØS›¯ ©õØÖa ^mk — GÀ»õ® |À»øÁ

— ¹. 8,000.

– Ámh® öŒ#u ©õØÖa^mk — ¹. 5,000.

[CvÀ ¹. 2,000 ©ÖUP¨£k® GÚ Gv¨£õº¨¦]

– A ¼ªmhiß £[SPÒ [ Œ¢øu ©v¨¦ ¹. 3,500]—

¹. 2,000.

– øP°¸¨¦ öµõUP® — ¹. 100.

– J¸ GÇzu¸US öPõkUP @Ási¯ 5 ©õu Œ®£Í®

— ¹. 750.

– AµŒõ[PzvØS öPõkUP @Ási¯ Á› — ¹. 150.
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20. Manian Ltd. of Calcutta has a Branch at Patna. Goods

are invoiced to the Patna Branch, the selling price being

cost plus 25%. From the following details, prepare the

Patna Branch Account for the year 2009 :

Rs.

Stock (1-1-90) (Invoice price) 1,250

Stock (31-12-09)  (Invoice price) 1,500

Debtors (1-1-09) 700

Debtors (31-12-09) 900

Cash sales for the year 5,400

Credit sales for the year 3,500

Goods invoiced from Calcutta 9,100

Rent 400

Wages 340

Sundry expenses 80
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PÀPzuõÂ¾ÒÍ ©o¯ß ¼ªöhmkUS £õmÚõÂÀ

QøÍ JßÖ EÒÍx. £õmÚõ QøÍUS ŒµUSPÒ

uø»ø© A¾Á»Pzv¼¸¢x AhUPÂø» + 25%

GßÝ® Chõ¨¦ Âø»°À AÝ¨£¨£kQÓx.

RÌUPõq® Â£µ[PÎ¼¸¢x 2009-&UPõÚ £õmÚõ

QøÍU PnUøPz u¯õ›UP.

    ¹.

ŒµUQ¸¨¦ (1-1-09) (Chõ¨¦ Âø») 1,250

ŒµUQ¸¨¦ (31-12-09)  (Chõ¨¦ Âø») 1,500

PhÚõÎPÒ (1-1-09) 700

PhÚõÎPÒ (31-12-09) 900

CÆÁ¸h öµõUP ÂØ£øÚ 5,400

CÆÁ¸h Phß ÂØ£øÚ 3,500

PÀPzuõÂ¼¸¢x AÝ¨¤¯ ŒµUS 9,100

ÁõhøP 400

T¼ 340

£Ø£» öŒ»ÄPÒ 80

***
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BUSINESS MATHEMATICS

(CBCS—2008 onwards)

Time : 3 Hours  Maximum : 75 Marks

Part - A (10 × 2 = 20)

I.  Answer all the questions.

1. Write the formula for Simple interest.

uÛÁmi Põq® ‹zvµzøu GÊx.

2. Define Due Date.

uÁøn |õÒ Áøµ¯Ö.

AF-2269 BCC4C4
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3. Write down the formula for log ( 1 + x) + log ( 1 – x).

log ( 1 + x) + log ( 1 – x) Gß£uß ‹zvµzøu GÊxP.

4. log2 = ———————.

log2 = ———————.

5. Write DeMorgan’s law.

j ©õºPÛß Âvø¯ GÊx.

6. Define Set.

Pn® Áøµ¯Ö.
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7. Write down the formula for mean and variance of

Poisson distribution.

£õ#éõß £µÁ¼ß ŒµõŒ› ©ØÖ® £µÁØ£iUPõÚ

‹zvµ® GÊxP.

8. What is Laspeyre’s index number ?

»õì¤¯º SÔ±mk Gs GßÓõÀ GßÚ ?

9. What is Event ?

{PÌÄ Gß£x GßÚ ?

10. Write the statement for multiplication theorem on

probability.

{PÌÂß ö£¸UPÀ @uØÓzvøÚ TÖ.
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Part - B (5 × 5 = 25)

II.  Answer all the questions.

11. (a) Find the total interest on Rs. 325 for 65 days.
Rs. 475 for 100 days and Rs. 550 for 82 days
at 6% p.a.

J¸ BskUS›¯ 6% ÂQuzvÀ 85

|õmPÐUPõÚ  ¹. 325, 100 |õmPÐUPõÚ

¹. 475 ©ØÖ® 82 |õmPÐUPõÚ ¹. 550

CÁØÔØPõÚ TmkÁmi PõsP.

(Or)

(b) The dif ference between the compound
interest and the simple interest for 3 years at
5% p.a. on a certain sum of money was
 Rs. 610. Find the sum.

3 BskPÎÀ SÔ¨¤mh öuõøPUPõÚ J¸

Á¸hzvØPõÚ ŒµõŒ› 5% UPõÚ Tmk

ÁmiUS®, uÛ ÁmiUS® Cøh@¯ EÒÍ

@ÁÖ£õk ¹. 610 GÛÀ öuõøP°øÚ

Psk¤i.
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12. (a) Prove that :

3 5

2 2 2
1 2 2 21 1log . . .3 51 1 1 1

n n n n
n n n n
                

wºÄ PõsP  :

3 5

2 2 2
1 2 2 21 1log . . .3 51 1 1 1

n n n n
n n n n
                

(Or)

(b) Show that :

5 7 9 .. . . 3 log2 1
1, 2, 3 3, 4, 5 5, 6, 7

     

5 7 9 .. . . 3 log2 1
1, 2, 3 3, 4, 5 5, 6, 7

     

GÚU PõmkP.
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13. (a) Prove that :

A (B C) (A B) (B C)     

A (B C) (A B) (B C)       GÚ {ÖÄP.

(Or)

(b) The number of students who can play either
football or cricket is 35. Among them 20  can
play cricket and 25 can play football. How
many can play both the games ?

35 ©õnÁºPÍõÀ PõÀ£¢x ©ØÖ® ©møh¨

£¢x ÂøÍ¯õmkPøÍ ÂøÍ¯õh •i²®.

AÁºPÐÒ ©møh¨ £¢x ÂøÍ¯õmk 20

@£ºPÍõ¾®, PõÀ£¢x ÂøÍ¯õmk 25

@£ºPÍõ¾® ÂøÍ¯õh •i²® GÛÀ,

Cµsk ÂøÍõ¯õmkPøÍ²® GzuøÚ

@£ºPÍõÀ ÂøÍ¯õh •i²® ?



7 AF-2269

14. (a) A bag contains 6 white and 4 black balls.
Another bag contains 7 white and 3 black
balls one ball is drawn from each bag. What
is the probability that :

(i) both are white ;

(ii) both are black and ;

(iii) one is white and other as black.

J¸ ø£°À 6 öÁÒøÍ ©ØÖ® 4 P¸¨¦ {Ó

£¢xPÒ EÒÍÚ. ©ØöÓõ¸ ø£°À 7

öÁÒøÍ, 3 P¸¨¦ {Ó £¢xPÒ EÒÍÚ.

JÆöÁõ¸ ø£°¾® J¸ £¢x Ãu®

GkUP¨£kQÓx GÛÀ

(i) Cµsk® öÁÒøÍ {Ó©õP ;

(ii) Cµsk® P¸¨¦ {Ó©õP ; ©ØÖ®

(iii) J¸ öÁÒøÍ £¢x J¸ PÖ¨¦ £¢x

C¸¨£uØPõÚ  {PÌuPÄ Põs.

(Or)
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(b) Write the characteristics of Poisson
distribution and also write the difference
between  Poisson and binomial distribution.

£õ#éõß £µÁÁ¼ß Sn |»ßPøÍ GÊxP

©ØÖ® £õ#éõß £µÁ¼ß D¸Ö¨¦

£µÁ¾US›¯ @ÁÖ£õkPøÍ GÊxP.

15. (a) Find the coefficient of x11 in the  expansion of

17

2
2x
x

  
 

.

17

2
2x
x

  
 

ß Â›ÂÀ x11ß öPÊ Põs.

(Or)

(b) Write the middle term in  the expansion of

122x
x

  
 

.

122x
x

  
 

 ß Â›ÂÀ |k EÖ¨¦ Põs.
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Part - C (3 × 10 = 30)

III.  Answer any three  questions.

16. Find the Equated due date of payments of the four
bills payable as given below :

(a) Rs. 700 on April 2nd

(b) Rs. 331 on May 7th

(c) Rs. 196 on June 16th and

(d) Rs. 405 on July 29th.

öPõkUP¨£mh |õßS Pmhn µ^xPÐUPõÚ

uÁøn |õÒ Psk¤i.

         (a)   H¨µÀ 2 AßÖ ¹. 700

         (b)  @© 7 AßÖ ¹. 331

        (c)  áúß 16 AßÖ ¹. 196

         (d)  áúø» 29 AßÖ ¹. 405
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17. Show that  :

25 7 91 .. . . 3log
1,2,3 3,4,5 5,6,7

    

25 7 91 .. . . 3log
1,2,3 3,4,5 5,6,7

      GÚ Põmk.

18. State and prove DeMorgan’s two laws. Give
example.

j©õºPÛß Cµsk ÂvPøÍ GÊv {¹¤.

Euõµn® öPõk.

19. Fit a Poisson distribution to the given below :

: 0 1 2 3 4
: 123 59 14 3 1

x
f

£õ#éõß £µÁÀ Põs Áøµ£h® ÁøµP.

: 0 1 2 3 4
: 123 59 14 3 1

x
f
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***

20. Prove that :

1
0 2 3 2C 2C 3C ... C n

nn n     

wºÄ PõsP

1
0 2 3 2C 2C 3C ... C n

nn n     
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B.Com.  (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

CORPORATE  ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A                       (10 × 2 = 20)

Answer all questions.

1. What is Issue of shares at discount ?

£[SPøÍ uÒÐ£i°À öÁÎ°kuÀ GßÓõÀ GßÚ?

2. What is Capital Redemption Reserve ?

‰»uÚ «m]U Põ¨¦ PnUS GßÓõÀ GßÚ ?

3. What is Business Purchase account ?

ÁoP öPõÒ•uÀ PnUS GßÓõÀ GßÚ ?

AF-2270    BCC5C1
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4. What is Time Ratio ?

Põ» ÂQu® GßÓõÀ GßÚ ?

5. What is Dividend ?

£[Põuõ¯® GßÓõÀ GßÚ  ?

6. What is Capital reserve ?

‰»uÚU Põ¨¦ GßÓõÀ GßÚ ?

7. What is Amalgamation ?

J¸[Qøn¨¦ GßÓõÀ GßÚ ?

8. Define Internal Reconstruction ?

EÒ ©ÖÁø©¨¦ Áøµ¯Ö.
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9. What is meant by Liquidation ?

{ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ ?

10. What is Deficiency account ?

£ØÓõUSøÓ PnUS GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Timex Ltd issued 1000, 8% debentures of 100

each. Give appropriate Journal entries in the

books of the company, if the debentures were

issued as follows :

(i) Issued at par redeemable at par.

(ii) Issued at discount of 5% repayable at par.

(iii) Issued at premium of 10 % repayable at par.
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(iv) Issued at par redeemable at a premium of

10%.

(v) Issued at a discount of 5% repayable at a

premium of 10%.

You are also required to show how the items

concerned appear in the Balance Sheet in

each of the above cash.

øhö©Uì ¼ªmöhm 1,000, 8%

Phß£zvµ[PøÍ öÁÎ°mhx. •P©v¨¦

JÆöÁõßÖ® ¹. 100. RÌUPõq® Â£µ[PÒ

Ai¨£øh°À, Phß£zvµ® öÁÏ°k öŒ#²®

ö£õÊx Á¸® •uØSÔ¨¦¨ £vÄPøÍz u¸P.

(i) •P©v¨¤À öÁÎ±k, «m¦•P©v¨¤À.

(ii)  5%  ÁmhzvÀ öÁÎ±k, «m¦•P©v¨¤À.

(iii) 10% •øÚ©zvÀ öÁÏ°k,

«mk•P©v¨¤À.
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(iv) •P©v¨¤À öÁÏ°k,  10% •øÚ©zvÀ

«m¦.

(v)  5% ÁmhzvÀ öÁÏ°k, «mk 10%

•øÚ©® .

@©¾® KÆöÁõ¸ •øÓ°¾® {Ö©® C¸¨¦

{ø»USÔ¨¤À GÆÁõÖ Á¸® GÚUPõmkP ?

(Or)

(b) A Company wants to redeem its preference shares

amounting to Rs.1,00,000 at a premium of 5% and

for this purpose issued 5,000  equity shares of 10

each at a premium of 5%. The Company has also

a balance of Rs. 1,00,000 on general reserve and

50,000  on Profit and Losss account.

 Pass Journal entries to record the above

transactions.
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K¸ {Ö©® ußÝøh¯ ¹. 1,00,000 ©v¨¦ÒÍ

•ßÝ›ø© £[SPøÍ 5% •øÚ©zvÀ v¸®£

öŒ¾zu Â¸®¦QÓx. CuØPõP 5,000 Œ©

£[SPøÍ ¹.10 Ãu® 5% •øÚ©zvÀ

öÁÎ°mhx. {Ö©® ö£õx Põ¨¤À ¹. 1,00,000

øÁzx C¸¢ux. ¹. 50,000 C»õ£ |mh PnUQÀ

C¸¢ux. C¢u |hÁiUøPPøÍ £v¯ @uøÁ¯õÚ

SÔ¨@£kPøÍ u¸P.

12. (a) Ram Ltd. was formed with an authorised capital

of Rs. 12,00,000 divided into equity shares of Rs.

10 each to acquire the business of A and B whose

Balance Sheet on the date of acquisition was as

follows :

Liabilities Rs. Assets Rs. Rs.

Capital 6,00,000 Premises 7,00,000

General reserve 4,00,000 Stock 2,00,000

Sundry creditors 2,00,000 Sundry debtors 1,60,000

(–) :Provision 10,000 1,50,000

Cash at  bank 1,50,000

———— ————
12,00,000 12,00,000
———— ————
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The purchase consideration was agreed upon at

Rs. 14,00,000 to be paid in Rs. 12,00,000 fully paid

shares at Rs. 11 and the balance in cash.

Give necessary Journal entries.

µõ® ¼m {Ö©® ¹.  10 £[SPøÍ öPõsh

AÝ©vUP¨£mh •uÀ ¹. 12,00,000 öPõsk A ©ØÖ®

B ß Â¯õ£õµzøu Gkzx öPõÒÍ E¸ÁõUP¨£mhx.

AuÝøh¯ C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ.

ö£õÖ¨¦PÒ ¹. öŒõzxUPÒ ¹. ¹.

•uÀ 6,00,000 ÁÍõP® 7,00,000

ö£õx Põ¨¦ 4,00,000 ŒµUQ¸¨¦ 2,00,000

£Ø£» PhÜ¢@uõº 2,00,000 £Ø£» PhÚõÎPÒ 1,60,000

(–) :KxUS 10,000 1,50,000

Á[Q öµõUP® 1,50,000

— — — — — — — —
12,00,000 12,00,000
— — — — — — — —
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öPõÒ•uÀ £¯ß ¹. 14,00,000 I ¹. 12,00,000 US

£[SPÍõP ¹. 11 Ãu•® «v öuõøPø¯ öµõUP©õPÄ®

öŒ¾zu J¨¦U öPõÒÍ¨£mhx.

@uøÁ¯õÚ SÔ¨@£mk £vÄPøÍ u¸P.

(Or)

(b) Mohanraj Ltd  incorporated on 1, Jan 2005 issued

a prospectus inviting of applications for 5,00,000

equity shares of Rs. 10 each at a premium of 10%.

The whole issue was fully underwritten by Kapoor,

Bhora, Dalal and Metha as follows :

Kapoor - 2,00,000 shares, Bhora -1,50,000 shares,

Dalal - 1,00,000 shares, Metha - 50,000 shares.

Applications were received for Rs. 4,50,000 shares

of  which marked applications were as follows.

Kapoor - 2,20,000 shares, Bhora - 90,000 shares,

Dalal - 1,10,000 shares, Metha - 10,000 shares.
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It is agreed that underwriters be paid commission

at 5% on the issue price.

 You are required

(i) to find out the Net Liabilities of each

underwriters.

(ii) to give Journal entries for the above.

@©õPß µõä ¼ªöhm 1.1.2005 À £vÄ

öŒ#¯¨£mhx. Ax 5,00,000 Œõuõ ¹. 10

©v¨¦øh¯ £[SPøÍ 10% •øÚ©zv¯

öÁÎ°h uPÁÀ AÔUøPø¯ öÁÎ°mhx.

öÁÎ°k •Êø©²® ¤ßÁ¸©õÖ

J¨¦Öv¯õÍºPÍõÀ J¨¦Öv öŒ#¯¨£mhx.

P§º & 2,00,000 £[SPÒ, @£õµõ & 1,50,000 £[SPÒ,

h»õÀ 1,00,000 £[SPÒ, @©zuõ & 50,000 £[SPÒ.

{Ö©® 4,50,000 Âsn¨£[PøÍ¨ ö£ØÓx.

CvÀ Aøh¯õÍ® Ah[Q¯ SÔ¨¤mh

Âsn¨£® ¤ßÁ¸©õÖ.
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P§º & 2,20,000 £[SPÒ, @£õµõ & 90,000 £[SPÒ,

h»õÀ & 1,10,000 £[SPÒ, @©zuõ & 10,000

£[SPÒ.

öÁÏ°mk Âø» J¨¦Öv¯õÍºPÐUS 5% PÈÄ

uµ J¨£¢u® öŒ#¯¨£mhx. BP@Á

RÌUPshÁØøÓ u¯õ›UP.

(i) J¨¦Öv¯õÍ›ß {Pµ¨ö£õÖ¨¦.

(ii) •uØSÔ¨@£k.

13. (a) Write short notes on Managerial remuneration.

@©»õsø© Fv¯zøu¨ £ØÔ ]Ö SÔ¨¦ ÁøµP.

(Or)

(b) Give an imaginary “Profit and Loss Account” of a

Joint Stock Company.

J¸ {Ö©zvß C»õ£ |mh PnUQß PØ£øÚ

©õv›ø¯z u¸P.

mailto:�u�SԨ@�k.
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14. (a) Praveen Ltd. passed resolution and got court

permission for the reduction of its share capital

by Rs. 5,00,000 for the purposes mentioned as

under.

(i) To write off debit balances of Profit and

Loss account of Rs. 2,10,000.

(ii) To reduce the value of plant and machinery

by Rs. 90,000 and goodwill by Rs. 40,000.

(iii) To reduce the value of investments by Rs.

80,000.

The reduction was made by converting

50,000 preference shares of Rs. 20 each

fully  paid to the same number of  preference

shares of Rs.15 each fully paid and by

converting 50,000 equity shares of

Rs.20 each  on which Rs. 15 is paid up into

50,000 equity  shares of Rs. 10 each fully

paid up.

Pass Journal entries to record the Shares

capital reduction.
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¤µÃs ¼m GÝ® {Ö©® RÌUPsh

@|õUP[PÐUPõP ¹. 5,00,000 £[S •uø»

SøÓ¨£uØPõP wº©õÚ® {øÓ@ÁØÔ¯@uõk

}v©ßÓ EzvµÄ® ö£ØÔ¸¢ux.

(i) C»õ£ |mh PnUQÀ £ØÔ¸¨£õP EÒÍ

¹. 2,10,000 @£õUöPÊvÂkÁx.

(ii) ö£õÔ ©ØÖ® C¯¢vµzvß ©v¨¤À

¹. 90,000 & ® ©ØÖ® |ß©v¨¤À

¹. 40,000& ® SøÓ¨£x.

(iii) •u½miß ©v¨¤À ¹. 80,000 SøÓ¨£x.

JßÖ ¹. 20  Ãu® •ÊÁx® öŒ¾zu¨£mh 50,000

•ßÝ›ø©¨ £[SPøÍ A@u GsoUøP²øh¯

•ßÝ›ø©¨ £[SPÍõP BÚõÀ JßÖ ¹. 15 Ãu®

•ÊÁx® öŒ¾zu¨£mh £[SPÍõP ©õØÔ²®,

KßÖ ¹. 20 Ãu® ¹. 15 öŒ¾zu¨£mh 50,000

@|ºø©¨ £[SPøÍ KßÖ ¹. 10 Ãu® •ÊÁx®
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öŒ¾zu¨£mh 50,000 @|ºø©¨ £[SPÍõP

©õØÔ²® C¨£[S •uÀ SÔ¨¤øÚ {Ö©®

@©ØöPõÒQÓx.

£[S •uÀ SøÓ¨¤øÚ £vÄ öŒ#²® ö£õ¸mk

@uøÁ¯õÚ SÔ¨@£mk¨ £vÄPøÍz u¸P.

(Or)

(b) A Company purchased assets of Rs. 3,50,000 and

took over the liabilities of Rs. 30,000 at an agreed

value of Rs. 3,30,000. The  company issued

debentures at 10% premium in full satisfaction of

the purchase price.

Pass necessary Journal entries.
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Áõ[S® {Ö©zvß •uØ SÔ¨@£miÀ £vÄPÒ

u¸P.

Kº {Ö©® ¹. 3,50,000 ©v¨¦US öŒõzxPøÍ

Áõ[Q ¹. 30,000 US ö£õÖ¨¦PøÍ HØÖU

öPõshx. J¨¦U öPõÒÍ¨£mh ©v¨¦

¹. 3,30,000 US Phß £zvµ[PøÍ 10%

•øÚ©zvÀ AÎzx öPõÒ•uÀ Âø»ø¯

•ÊÁx©õP Œ›öŒ#ux.

15. (a) From the following particulars, prepare

Liquidators Final statement of account.

Cash Rs. 10,000

Assets realised Rs. 23,000 [other than securities

with secure creditors]

Secured creditors 28,000 [ securities realised Rs.

35,000]

Preferential creditors Rs. 800

Unsecured creditors Rs. 62,000

Legal expenses Rs. 250

Liquidation expenses Rs. 1,200
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Liquidator is entitled to a remuneration of 3% on

assets realised  [including securities with creditors]

and 2% on the amount distributed unsecured

creditors.

RÌUPõq® uPÁÀPÎ¼¸¢x Pø»¨£õÍ›ß

CÖv AÔUøP PnUQøÚ u¯õº öŒ#P :

öµõUP® ¹. 10,000

wºÄ öŒ#¯¨£mh öŒõzxUPÒ ¹. 23,000 [¤øn¯

PhÜ¢@uõ›h® EÒÍ ¤øn¯ öŒõzxUPÒ

}[P»õP]

¤øn¯ PhÜ¢@uõº ¹. 28,000   [¤øn¯

öŒõzxUPÒ wºÄ öŒ#ux ¹. 35,000]

•ßÝ›ø© PhÜ¢@uõº ¹. 800

¤øn°À»õ PhÜ@uõº ¹. 62,000

Œmh öŒ»ÄPÒ ¹. 250

Pø»¨¦ öŒ»ÄPÒ ¹. 1,200

öŒõzxUPøÍ wºÄ öŒ#u öuõøP°À



16 AF-2270

[PhÜ¢@uõ›h® EÒÍ ¤øn¯a öŒõzx EÒ£h] 3% ®

¤øn°À»õU PhÚõÎPÐUS öŒ¾zu¨£mh

öuõøP°À 2% ® Pø»¨£õÍº Fv¯©õP ö£Ó

E›ø©²ÒÍÁµõP EÒÍõº.

(Or)

(b) Explain how Statement of Affairs and Deficiency

account is prepared.

Pø»¨¦ AÔUøP²® £ØÓõUSøÓ PnUS®

GÆÁõÖ u¯õ›UP¨£kQßÓx ?

Part C (3 × 10 = 30)

Answer any three questions.

16. A Limited Company issued 10,000 shares of Rs. 10 each

payable as follows :

Rs. 3 on application Rs. 3 on allotment Rs. 4 on first

and final call. The company received on 13,000

applications from the public. Applications for 1,500
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shares were rejected and the excess application money

received on the other 1,500 shares was adjusted towards

allotments. All the amount due on the shares were

received except the call money on 500 shares which were

forfeited after due notice. Later 400 shares were

reissued at 8 per share. Pass Journal entries.

J¸ {Ö©® 10,000 £[SPøÍ ¹. 10 Ãu®

RÌUPshÁõÖ öŒ¾zu uUP ÁøP°À öÁÎ°mhx.

¹. 3 Âsn¨£zvß ö£õÊx ¹. 3 JxURmiß ö£õÊx

¹. 4 •uÀ ©ØÖ® CÖv AøÇ¨¤ß@£õx.

{Ö©® 13,000 £[SPÐUPõÚ Âsn¨£® ö£ØÓx.

1,500 £[SPÐUPõÚ Âsn¨£® ©ÖUP¨£mhx. ©ØÓ

1,500 £[SPÐUPõÚ E£› Âsn¨£z öuõøP

JxURmkUS Œ› öŒ#¯¨£mhx. 500 £[SPÐUPõÚ

AøÇ¨¦ öuõøP uÂµ AøÚzx öuõøP²®

ö£Ó¨£mhx. 500 £[SPÒ JÖ¨¤Ç¨¦

öŒ#¯£¨£mhx. 400 £[SPÒ ¹. 8 US ©Ö öÁÏ°k

öŒ#¯¨£mhx. SÔ¨@£mk £vÄPøÍ u¸P.
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17. A Company Ltd was incorporated on May 1, 2006 to

take over business of  X Co. Ltd as going concern from

1st Jan 2008. The Profit and  Loss account for the year

ending December 31, 2008 is as follows :

Rs. Rs.

Rent and Taxes 12,000 Gross profit 1,55,000

Insurance 3,000

Electric charges 2,400

Salaries 36,000

Direct fees 3,000

Auditors fees 1,600

Commission 6,000

Advertisement 4,000

Discount 3,500

Office expenses 7,500

Carriage 3,000
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Rs. Rs.

Bank charges 1,500

Preliminary expenses 6,500

Bad debts 2,000

Interest on loan 3,000

Net profit 60,000

———— ————
1,55,000 1,55,000
———— ————

The total turnover for the year ending Dec. 31, 2008

was Rs. 5,00,000 divided into Rs. 1,50,000 for the period

upto May 1, 2008 and Rs. 3,50,000 for the remaining

period.

Ascertain the Profit earned price to incorporation

period.
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A {Ö©® @© 1 2008 À Tmk¸ÁõUP® öŒ#¯¨£mk

X. Co ¼ªöhmøh áÚÁ› 1.2008 X ¼¸¢x

GkzxUöPõshx 31.12.08 B® @uv •i¯ AuÝøh¯

C»õ£ |mh PnUS RÌÁ¸ÁÚ.

£ØÖ ¹. ÁµÄ ¹.

ÁõhøP ©ØÖ® Á› 12,000 ö©õzu »õ£® 1,55,000

Põ¨¥k 3,000

ªßŒõµU Pmhn® 2,400

Œ®£Í® 36,000

C¯US|º Pmhn® 3,000

uoUøP Pmhn® 1,600

PÈÄ 6,000

ÂÍ®£µ® 4,000

uÒÐ£i 3,500

A¾Á»P öŒ»ÄPÒ 7,500
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       £ØÖ ¹. ÁµÄ ¹.

”ø©UT¼ 3,000

Á[Q Pmhn® 1,500

Bµ®£ öŒ»ÄPÒ 6,500

ÁµõU Phß 2,000

Phß«x Ámi 3,000

{Pµ »õ£® 60,000

———— ————

1,55,000 1,55,000

———— ————

31.12.2008 •i¯ ö©õzu ÂØ£øÚ ¹. 5,00,000. C¢u

ÂØ£øÚz öuõøP°À ¹. 1,50,000. 1.5.08 •i¯Ä® ¹.

3,50,000 «u•ÒÍ Põ»zxUS® E›¯øÁ. @©ØPsh

Â£µ[PÎ¼¸¢x Tmk¸ÁõUP Põ»zxUS •ß

Œ®£õvzu »õ£® GÆÁÍÄ GÚU PnUQhÄ®.



22 AF-2270

18. From the following particulars, prepare Company’s

Profit and  Loss account Balance Sheet  as on 30th June

2007.

Particulars Dr Cr

Rs. Rs.

Stock on 30th June 2006 7,500 —

Sales — 35,000

Purchases 24,500 —

Productive wages 5,000 —

Discounts 700 500

Salary 750 —

Rent 495 —

General expenses including Insurance 1,705 —

Profit and Loss account 30 June 2006 — 1,500

Dividend paid 900 —

Capital, 1000 shares of Rs. 10 each — 10,000

Debtors and Creditors 3,750 1,750

Plant and Machinery 2,900 —

Cash in hand and bank 1,620 —

Reserve — 1,553

Bad debts 483 —
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Adjustments :

(i) Stock on 30th June 2007 Rs. 8,200.

(ii) Depreciate Machinery @ 10 % p.a.

(iii) Provide 5% as discount on Debtors.

(iv) Allow 2½ % discount on Creditors.

(v) Provide managing directors commission 15%

on the net profit before deducting his

commission.

(vi) One month rent @ Rs. 540 p.a was due on

30th June.

(vii) Six months insurance was unexpired at

Rs. 75 p.a.
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RÌUPõq® Â£µ[PÎß Ai¨£øh°À 30.6.07 •i¯

J¸ {Ö©zvß C»õ£ |mh PnUS ©ØÖ® C¸¨¦

{ø»U SÔ¨ø£U PõsP :

Â£µ® £ØÖ ÁµÄ

¹. ¹.

30.6.2006 AßÖ ŒµUQ¸¨¦ 7,500 —

ÂØ£øÚ — 35,000

öPõÒ•uÀ 24,500 —

EØ£zv T¼ 5,000 —

uÒÐ£iPÒ 700 500

Œ®£Í® 750 —

ÁõhøP 495 —

ö£õxa öŒ»ÄPÒ Põ¨¥k EÒ£h 1,705 —

»õ£ |mh PnUS 30.6.06 — 1,500

£[Põuõ¯® öŒ¾zv¯x 900 —
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Â£µ® £ØÖ ÁµÄ

¹. ¹.

•uÀ 1000 £[SPÒ ¹. 10 Ãu® — 10,000

PhÚõÎPÒ ©ØÖ® PhÜ¢@uõºPÒ 3,750 1,750

ö£õÔ ©ØÖ® G¢vµ® 2,900 —

öµõUP® ©ØÖ® Á[Q 1,620 —

JxURk — 1,553

ÁµõUPhß 483 —

Œ›PmkuÀPÒ  :

(i) 30.6.07 AßÖ ŒµUQ¸¨¦ ¹. 8,200.

(ii) G¢vµz @u#©õÚ® Kº BskUS 10%.

(iii) PhÚõÎPÒ «x Ámh® 5%.

(iv) PhÜ¢@uõº «x Ámh® 2½ %.

(v) PÈÄz öuõøP PÈ¨£uØS •ß¦

@©»õsø© C¯US|µx PÈÄ {Pµ»õ£zvÀ

15%.

(vi) 20 áüß AßÖ J¸ ©õu ÁõhøP {¾øÁ

BsöhßÖUS ¹. 540 ÃuzvÀ.

(vii) BÖ ©õu Põ¨¥k •ßTmi öŒ¾zv¯x

BsöhõßÖUS ¹. 75 ÃuzvÀ
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19. The following is the Balance Sheet of X Co Ltd. as on

31st December 2005.

Liabilities Rs. Assets Rs.

Share capital 12,000 shares of

Rs. 10 each fully paid 1,20,000 Land and Building 90,000

Sundry creditors 30,000 Machinery 50,000

Bank overdraft 28,000 Stock 17,000

Sundry debtors 20,000

Profit & Loss account 1,000

———— ————
1,78,000 1,78,000
———— ————

The company went into Voluntary Liquidation and the

assets were sold to Y Co. Ltd for Rs.1,50,000 payable as

to Rs. 60,000 in cash [which is sufficient to discharge

creditors and bank overdraft  and to payoff the winding

up expenses of Rs. 2,000] and as to Rs. 90,000 by the

allotment of 12,000 shares of Rs. 10 each of the Y Co.

Ltd Rs. 7.50 per share paid -up.
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Draw up the important Ledger accounts to close the

books of ‘X’ Co Ltd  and the Journal entries for recording

these transactions in the books of ‘Y’ Co. Ltd.

2005, iŒ®£º 31 |õÍßøÓ¯ X {ÖÁÚzvß C¸¨¦

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.

ö£õÖ¨¦PÒ ¹. öŒõzxPÒ ¹.

£[S•uÀ •ÊÁx® öŒ¾zu¨£mh {»® ©ØÖ®

¹. 10 ©v¨¦øh¯ 12,000 £[SPÒ 1,20,000 Pmih® 90,000

£Ø£» PhÜ¢@uõºPÒ 30,000 C¯¢vµ® 50,000

Á[Q @©ÀÁøµ¨ £ØÖ 28,000 ŒµUQ¸¨¦ 17,000

£Ø£» PhÚõÎPÒ 20,000

C»£|mhU P/S 1,000

———— ————
1,78,000 1,78,000
———— ————
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C¢{ÖÁÚ® ußÚõºÁ Pø»¨¤ØS öŒßÓx. @©¾®

öŒõzxPøÍ {ÖÁÚzvØS ¹. 1,50,000 ØS ÂØÓx.

AvÀ ¹. 60,000 öµõUP©õPÄ®  [Pø»¨¤a öŒ»Ä

¹. 2,000 PhÜ¢@uõºPøÍ wº¨£uØPõÚ öŒ»Ä, ©ØÖ®

Á[Q @©ÀÁøµ¨£ØøÓ²® öPõk¨£uØS

@£õx©õÚuõP C¸US®]. «u•ÒÍ ¹. 90,000 I £[S

JßÔUS ¹. 7.50 öŒ¾zv¯ ÁøP°À ¹. 10 ©v¨¦øh¯

12,000 £[SPøÍ Y {ÖÁÚzvØS JxUQ¯x.

C¢{PÌÄPøÍ Y {ÖÁÚ HkPÎÀ ¦v¯ @uøÁ¯õÚ

SÔ¨@£mk¨ £vÄPøÍ²® X {ÖÁÚ HkPÎÀ

@uøÁ¨£k® •UQ¯©õÚ @£@µmkU PnUSPøÍ²®

u¸P.

20. On Jan 31st 2007 a compulsory order for winding up

was made against X Co Ltd. The following particulars

are disclosed.

Book value Estimated to produced

Rs. Rs.

Cash in hand 100 100

Debtors 4,000 3,600

Buildings 60,000 48,000
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Rs. Rs.

Furniture 20,000 20,000

Unsecured creditors 20,000

Debentures

Secured on buildings 42,000

Secured on floating charge 10,000

Preferential creditors 6,000

Share capital 3,20,000

Estimated Liabilities for bills discounted was Rs. 6,000

estimated to bank Rs.6,000, other contingent liability

were Rs. 12,000 estimated to rank Rs. 12,000.

The company was formed on 1.1.02 and has made

Losses of Rs. 3,13,900.

 Prepare Statement of Affairs and Deficiency account.
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GUì P®.¼m GÝ® {Ö©zvØS GvµõP áÚÁ› 31.07

À Pmhõ¯ Pø»¨£õøn ¤Ó¨¤UP¨£mhx.

RÌUPõq® uPÁÀPÒ AÔ¯¨£mhÚ.

¦zuP ©v¨¦ ©v¨¤köŒ#¯¨

£mh öuõøP

¹, ¹,

øP°À öµõUP® 100 100

PhÚõÎPÒ 4,000 3,600

Pmih[PÒ 60,000 48,000

uÍÁõh Œõ©õßPÒ 20,000 20,000

¤øn°À»õ PhÜ¢@uõºPÒ 20,000

Phß£zvµ[PÒ :

Pmih[PÒ «x ¤øn²ÒÍx 42,000

{µ¢uµ ©ØÓ E›ø©°ß «x ¤øn²ÒÍx 10,000

•ßÝ›ø©U PhÜ¢@uõº 6,000

£[S•uÀ 3,20,000
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©õØÖa ^mk Ámh® öŒ#uõÀ HØ£mh ö£õÖ¨¦ ¹.

6,000 ©w¨¤k öŒ#¯¨£mh öuõøP ¹. 6,000 ¤Ó

{PÌÁøhÁõ ö£õÖ¨¦PÒ ¹. 12,000 BS®. ©v¨¥k

öŒ#¯¨£mh öuõøP ¹. 12,000 BS®.

1.1.2002 AßÖ {Ö©® @uõØÖÂUP¨£mk ¹. 3,13,900

|mh® Aøh¢xÒÍx. ÁoP ÂÁPõµ¨£mi¯ø»²®,

£ØÓõUSøÓ PnUQøÚ²® u¯õº öŒ#P.

***
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B.Com.(C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

INCOME TAX LAW AND PRACTICE

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A                       (10 × 2 = 20)

Answer all questions.

1. What is Income Tax ?

Á¸©õÚ Á› GßÓõÀ GßÚ ?

2. What do you mean by Tax Liability ?

öŒ¾zu @Ási¯ Á› Gß£x £ØÔ E©x P¸zx

¯õx ?

3. What is Assessment Year ?

PnURk Bsk GßÓõÀ GßÚ ?
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4. Who is an Assessee ?

Á›Âv¨¤ØS›¯Áº Gß£Áº ̄ õº ?

5. Give the meaning of ‘Casual Income’.

uØöŒ¯À Á¸©õÚ® Gß£vß ö£õ¸Ò u¸P.

6. What is meant by ‘Unabsorbed Depreciation’ ?

‘DºUP¨£hõu @u#©õÚ®’ Gß£uß ö£õ¸Ò ̄ õx ?

7. What do you mean by ‘Expected Rental Value’ ?

Gvº@|õUS® ÁõhøP ©v¨¦ Gß£x £ØÔ E©x P¸zx

¯õx ?

8. State the meaning of ‘Allowances’.

£iPÒ Gß£uß ö£õ¸øÍ SÔ¨¤kP.
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9. Distinguish between Short Term and Long Term Capital

Gains.

SÖQ¯ Põ» ©ØÖ® }sh Põ» ‰»uÚ Buõ¯[PøÍ

@ÁÖ£kzxP.

10. What do you mean by ‘Exempted Securities’ ?

Á› Â»UPÎUP¨£mh ¤øn¯[PÒ Gß£x £ØÔ E©x

P¸zx ̄ õx ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) Give the Canons of Taxation relevant to India.

C¢v¯õÂØS ö£õ¸zu©õÚ Á›Âv¨¦U

@Põm£õkPøÍ u¸P.

(Or)

(b) State the various sources of Income Tax Law.

Á¸©õÚ Á›a Œmhzvß £À@ÁÖ ‰»[PøÍ

SÔ¨¤kP.
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12. (a) Define ‘‘Person’’ as per Income Tax Act.

Á¸©õÚ Á› Œmhzvß£i |£º Gß£vß

ÁøµÂ»UPn® u¸P.

(Or)

(b) Differentiate between Capital and Revenue items.

‰»uÚ ©ØÖ® Á¸Áõ°ß CÚ[PøÍ

@ÁÖ£kzxP.

13. (a) Give five examples of incomes which are totaly
exempted from Income Tax.

Á¸©õÚ Á› Âv¨¤¼¸¢x •Êx®

Â»UPÎUP¨£mh I¢x Euõµn

Á¸©õÚ[PøÍz u¸P.

(Or)
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(b) On 1–4–2009 the WDV of various assets of a
manufacturing cancern was as given below :

Machinery Building

Rs. Rs.

WDV at the beginning of the year 5,00,000 20,00,000

Additions during the year (1-8-2009) 6,00,000 NIL

Sale of a part of the asset during

the year 10,00,000 4,00,000

Rate of  depreciation for Machinery is 15% and Building

10%. Compute Depreciation for the previous year 2009-

10 and written down value on 31-3-2010.

J¸ EØ£zv {ÖÁÚzvß £À@ÁÖ öŒõzxUPÎß

SøÓ¢x öŒÀ•øÓ C¸¨¦ 1&4&2009 AßÖ

RÌÁ¸©õÖ :

C¯¢vµ® Pmih®

¹. ¹.

Bsk xÁUPSøÓ¢x öŒÀ•øÓ

C¸¨¦ 5,00,000 20,00,000

CÆÁõsiÀ Tku»õUQ¯x

(1-8-2009) 6,00,000 CÀø»

CÆÁõsiÀ ÂØÓ öŒõzvß

J¸ £Sv 10,00,000 4,00,000
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@u#©õÚ ÂQu® C¯¢vµzvØS 15% ©ØÖ®

PmihzvØS 10%. 2009&10 •¢øu¯ BsiØPõÚ

@u#©õÚ® ©ØÖ® 31&3&2010 À SøÓ¢x öŒÀ•øÓ

C¸¨¦PøÍ PnUQhÄ®.

14. (a) From the following information, compute Gross

salary :

Rs. Rs.

Salary 24,000 Dearness Allowances 3,000

House Rent Allowances 24,000 Rent Paid 18,000

RÌÁ¸® Â£µ® öPõsk ö©õzu Œ®£Í®

PnUQhÄ®.

¹. ¹.

Œ®£Í® 24,000 £gŒ¨£i 3,000

Ãmk ÁõhøP¨£i 24,000 ÁõhøP öŒ¾zv¯x 18,000

(Or)
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(b) From the following particulars, calculate Gross Annual
 Value :

Rs. Rs.

Municipal Rental Value 48,000 Standard Rent 52,500

Fair Rental Value 50,000 Annual Rent 72,000

During the previous year house was vacant for 2 months.

RÌÁ¸® Â£µ[ öPõsk ö©õzu ÁõhøP ©v¨¦

PnUQkP.

¹. ¹.

|Pµõm] ÁõhøP ©v¨¦ 48,000 {ø»¯õÚ ÁõhøP 52,500

{¯õ¯ ÁõhøP ©v¨¦ 50,000 Bsk ÁõhøP 72,000

|h¨¦ •¢øu¯ BsiÀ Ãk Põ¼¯õ°¸¢u ©õu[PÒ 2.

15. (a) Mrs. R receives family pension Rs.3,000 per month

and Rent from factory along with plant and machinery

Rs.48,000. Depreciation Rs.300. Fire Insurance

Premium Rs.700. Repairs Rs.500. She also receives

salary from her employer Rs.80,000.

Compute Income from other sources.
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v¸©v ‘Bº’ Sk®£ K#Åv¯©õP ©õuõ©õu®

¹.3,000 ö£ÖQÓõº. ö£õÔ ©ØÖ®

C¯¢vµ[PÐhß öuõÈØŒõø» ÁõhøP ¹.48,000

ö£ÖQÓõº. @u#©õÚ® ¹.300. wUPõ¨¥mk

•øÚ©® ¹.700. £Êx£õº¨¦ ¹.500. @©¾® CÁº

uß £o¯Î¨£Á›hª¸¢x ö£Ö® Fv¯®

¹.80,000 CÁ›ß Cuµ CÚ Á¸©õÚ®

PnUQhÄ®.

(Or)

(b) Following is the Profit and Loss Account of Mr. Raman
for the year ended 31.3.2010.

Debit Rs. Credit Rs.

To Salary to Proprietor 10,000 By Gross Profit 50,000

To Staff Salary 15,000 By Profit on Sale of car 15,000

To General Expenses 7,000 By Bad debt recovered 5,000

To Interest on capital 2,000 By Interest on Govt

      Securities 4,000

To Bad debts 1,000 By Dividend 4,,000

To Advertisements 2,700 By Interest on Post office

      Savings Account 4,000
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Rs. Rs.

To Fire Insurance 1,000

To Depreciation 3,000

To Provision for Bad debts 1,000

To Income Tax 4,000

To Donation to School 3,000

To Car expenses 3,000

To Net Profit 29,300

———— ————

82,000 82,000

———— ————

Compute Business Income.

v¸. µõ©ß AÁºPÎß 31.3.2010 À •iÁøh²®

C»õ£ |mhUPnUS RÌÁ¸©õÖ :

£ØÖ ¹. ÁµÄ ¹.

E›ø©¯õÍº Fv¯® 10,000 ö©õzu C»õ£® 50,000

£o¯õmPÒ Fv¯® 15,000 ÁõPÚ® ÂØÓvÀ C»õ£®15,000

ö£õxa öŒ»ÄPÒ 7,000 ÁµõPhß Á‹À 5,000

 •uÀ«x Ámi 2000 Aµ” ¤øn¯[PÒ

      «x Ámi 4000
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¹. ¹.

ÁµõUPhß 1,000 £[Põuõ¯® 4,000

ÂÍ®£µ® 2,700 AgŒ»P @Œª¨¦

 PnUS «x Ámi 4,000

wUPõ¨¤k 1,000

@u#©õÚ® 3,000

ÁµõUPhß JxUS 1,000

Á¸©õÚÁ› 4,000

J¸ £ÒÎUS

AÎzu |ßöPõøh 3,000

ÁõPÚa öŒ»Ä 3,000

{Pµ C»õ£® 29,300

———— ————

82,000 82,000

———— ————

Â¯õ£õµ Á¸©õÚ® PnUQhÄ®.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Describe the important objectives of Taxation.

Á›Âv¨¤ß •UQ¯ SÔU@PõÒPøÍ ÂÁ› .

17. A Malaysian citizen Mr.B left India on 1-6-2006 after a

continuous stay of 10 years. During the financial year

2007-08 he come back to India and stayed for a period of

46 days and left. In the year 2008-09 he came back to India

on 10-10-2008 and stayed here thereafter for two years.

Determine the Residential status of Mr.B for the Assessment

Year 2010-11.

J¸ ©@»]¯ Si©Pß v¸ ¤ 10 BskPÍõP öuõhº¢x

C¢v¯õÂÀ u[Q°¸¢x ¤ÓS 1.6.2006 AßÖ

C¢v¯õÂ¼¸¢x öÁÎ@¯ÔÚõº. 2007.08 ® {v

BsiÀ «sk® C¢v¯õ Á¢x 46 |õmPÒ ©mk@©

u[Q°¸¢xÂmk öŒßÓõº. 2008&09 ® Bsk

10.10.2008 À «sk® C¢v¯õ Á¢v¸¢x Cµsk

BskPÒ u[Q C¸¢uõº. v¸ ¤ AÁºPÎß

Si°¸¨¦ {ø» 2010&2011 ® BsiØS wº©õoUP.
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18. What are the conditions laid  down in Income Tax Act

1961 to claim Depreciation on Fixed Assets.

{ø»aöŒõzxUPÒ «x @u#©õÚ® @Põµ Á¸©õÚ Á›a

Œmh® 1961 À TÓ¨£mh {£¢uøÚPÒ ̄ õøÁ ?

19. During the year ended 2009-10 Murugan sold the following
assets :

Sale proceeds

Rs.

(i) Land Purchased in 1985-86 for

Rs.18,000 [cost Inflation Index –133] 65,000

(ii) Machinery purchased in

1983-84 [CII-125] for Rs.50,000

written down value on 1-4-2009

Rs.35,000] 60,000

(iii)Furniture purchased on 1-4-2008 for Rs. 1,000 1,300

(iv) Plant purchased on 1-4-2008 for Rs.10,000 12,000

(v) One Residential house purchased in 1987-88

for Rs.30,000 [CII-150] 88,200

Compute Income from Capital gains of Mr. Murugan.



13 AF-2271

2009& -10 ® BsiÀ •¸Pß ÂØÓ öŒõzxUPÒ
¤ßÁ¸©õÖ.

ÂØÖ ÁµÄ

¹.

(i) 1985&86 À ¹.18,000ØS Áõ[Q¯ {»®

 [£nÃUP AhUP SÔ±k & 133] 65,000

(ii) 1983&84 À ¹.50,000ØS Áõ[Q¯ C¯¢vµ®

 [£.Ã.S.A -&125]

 1-4-2009 AßÖ @u#©õÚ®

GÊv SøÓUP¨£mh ©v¨¦ ¹.35,000] 60,000

(iii)1-4-2008 À ¹.1,000 ØS Áõ[Q¯

©ønzuøn¨ö£õ¸Ò 1,300

(iv) 1-4-2008 À ¹.10,000ØS Áõ[Q¯ ö£õÔ 12,000

(v)  1987-88 À ¹.30,000ØS Áõ[Q¯ Si°¸¨¦Ãk

 [£.Ã.S.A -&150] 88,200

•¸PÛß ‰»uÚ Buõ¯zøu PnUQhÄ®.
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20. From the following particulars calculate the salary Income
of Mr.M for the Assessment Year 2010-11.

Salary Rs.5,500 per month House Rent allowance Rs.2,400
per month. Dearness  allowance Rs.3,300 per month.

Entertainment allowance Rs.1,200 per month.

His employer contributes to provident  fund 14%  of salary.
He lives in a rented house monthly rent being Rs.3,000. He
pays Life Insurance premium Rs.4,000. He has been
provided with a Gardener and a Sweeper. Their salary Rs.500
p.m. and Rs.600 p.m. respectively.

RÌÁ¸® Â£µ® öPõsk 2010&11 PnURk

BsiØPõÚ v¸ G® ß Œ®£Í Á¸©õÚ® PnUQkP.

Œ®£Í® ©õu® ¹.5,500 Ãmk ÁõhøP¨£i ©õu®

¹. 2,400 £gŒ¨£i ©õu® ¹. 3,300.

@PÎUøP¨£i ©õu® ¹. 1,200.

@Œ©|» {vUS AÁ›ß £o¯Î¨£º öŒ¾zxÁx

Œ®£ÍzvÀ 14% CÁº Si°¸US® ÃmkÁõhøP ©õu®

¹. 3,000 CÁº öŒ¾zx® B²mPõ¨¥mk •øÚ©® ¹.

4,000. CÁ¸US @uõmhUPõµº ©ØÖ® x¨¦µÁõÍº ÁŒv

AÎUP¨£mkÒÍx CÁºPÎß Œ®£Í® •øÓ@¯ ©õu®

¹.500 ©ØÓ® ¹. 600.

***
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B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

JAVA PROGRAMMING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                Part A                     (10 × 1½ = 15)

Answer the following all questions.

1. The original name of the Java language is ————

Java ö©õÈ°ß Esø©¯õÚ ö£¯º ————.

2. ———— is another popular browser developed by

microsoft.

Microsoft E¸ÁõUQ¯ ©ØöÓõ¸ popular browser

————.
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3. An——— constant refers to a sequence of digits.

Á›øŒ¯õÚ GsPøÍU SÔUS® Constant———.

4. What is a variable ?

Variable GßÓõÀ GßÚ ?

5. What is a package ?

Package GßÓõÀ GßÚ ?

6. What are the two types of errors ?

Cµsk ÁøP¯õÚ errors GßÚ ?

7. How do we define a catch Block ?

Catch block I GÆÁõÖ Áøµ¯øÓ öŒ#Áõ# ?
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8. What is a Local Applet ?

Local AppletGßÓõÀ GßÚ ?

9. Write the applet code to draw the cube.

Cube ÁøµÁuØPõÚ Code I GÊxP ?

10. Write a Java program to find out the square root of the

given number 5.

Gs 5&ß square root-I PshÔ²® Java program I

GÊxP ?

Part  B (5 × 3 = 15)

Answer the following questions.

11. (a) What is the contribution of Java to the web

browser ?

Web browser-À Java £[S GßÚ ?

(Or)
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(b) How Java differs from C++ ?

C++ -À C¸¢u Java GÆÁõÖ @ÁÖ£kQÓx ?

12. (a) In what ways does a switch statement differ from

an if statement  ?

If statement -À C¸¢x  switch statement GÆÁõÖ

@ÁÖ£kQÓx.

(Or)

(b) What is an array ? Give one example program and

explain ?

Array GßÓõÀ GßÚ ? J¸ program GÊv

ÂÁ›UPÄ®.
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13. (a) How can you create an object  ?

object-I GÆÁõÖ E¸ÁõUSÁõ#.

(Or)

(b) Explain the overriding methods.

Over riding methods-I ÂÁ›UPÄ®.

14. (a) Discuss the stopping and blocking a thread ?

Stopping and blocking  thread £ØÔ ÂÁ› ?

(Or)

(b) How do we add a class to a package ?

J¸ package À class-I GÆÁõÖ @Œº¨£õ# ?
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15. (a) How can you design the web page using Applet ?

Applet I E£@¯õQzx J¸ web page I GÆÁõÖ

öŒ#Áõ# ?

(Or)

(b) Explain the purpose of each argument used in the

method draw Arc ( ).

Draw Arc ( ) method-À EÒÍ JÆöÁõ¸

argument-ß £¯ßPøÍ GÊxP.

Part C (3 × 10 = 30)

Answer the following any three questions.

16. Explain the Java environment JDK.

Java environment JDK £ØÔ ÂÁ›UPÄ®.
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17. Discuss the Java operators and expressions ?

Java-ß operators ©ØÖ® expressions £ØÔ ÂÁ›UPÄ®.

18. Give Syntax and examples of final variables and

methods ?

Final variables ©ØÖ® methods-ß Syntax GÊx

Euõµn® öPõk ?

19. How can you creating a threads ? Give one example

program with output.

Thread-I GÆÁõÖ E¸ÁõUSÁõ# ? output Ehß J¸

program  GÊv ÂÁ›UPÄ®.

20. Describe the complete life cycle of Applet ?

Applet-ß •Êø©¯õÚ life cycle-I ÂÁ›UPÄ®.

***
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B.Com. (C.A) DEGREE EXAMINATION
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Commerce with Computer Applications

Elective—MS OFFICE

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

                                   Part A                 (10 × 1½ = 15)

Answer all questions.

1. Define Computer.

Po¨£õß&Áøµ¯Ö.

2. What is Analog computer ?

AÚ»õU P®¨³mhº GßÓõÀ GßÚ ?
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3. What is Undo ?

Undo GßÓõÀ GßÚ ?

4. What is meant by Header ?

öímhº Gß£uß ö£õ¸Ò ̄ õx ?

5. What is Spread sheet ?

ì¤µm ̂ m GßÓõÀ GßÚ ?

6. What is Chart ?

Áøµ£h® GßÓõÀ GßÚ ?

7. What is mean by Database ?

@hmhõ@£ì Gß£uß ö£õ¸Ò ̄ õx ?
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8. What is Query ?

Query GßÓõÀ GßÚ ?

9. What is MS-Power Point ?

MS-Power Point GßÓõÀ GßÚ?

10. What is Animation ?

AÛ@©åß GßÓõÀ GßÚ ?

Part  B (5 × 3 = 15)

Answer all questions.

11. (a) Explain the components of Computer.

Po¨£õÛß TÖPøÍ ÂÍUSP.

(Or)
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(b) Distinguish Computer from Human beings.

Po¨£õøÚ ©ÛuºPÎhª¸¢x @ÁÖ£kzxP.

12. (a) Write short notes on Undo and Redo option in Edit

Menu.

Gimö©ÝÂÀ Redo ©ØÖ® Undo £ØÔ ]Ö

SÔ¨¦ ÁøµP.

(Or)

(b) How do you create Table in MS-Word ?

MS-Word-ø¯ £¯ß£kzv GÆÁõÖ

AmhÁøÚø¯ E¸ÁõUSÁõ# ?
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13. (a) Explain about Auto Fill features of MS-Excel.

GUé¼ß Auto Fill C¯À¦PÒ SÔzx ÂÍUSP.

(Or)

(b) How do you create and copy formula in

MS-Excel ?

GÆÁõÖ GUé¼À ‹zvµ[PøÍ E¸ÁõUSÁõ# ?

14. (a) Explain the procedure for creating primary key.

•ußø© ŒõÂø¯ E¸ÁõUS® |øh•øÓ°øÚ

ÂÍUSP.

(Or)



6 AF-2273

(b) How do you create Report in MS-Access ?

MS-Access-ø¯¨ £¯ß£kzv GÆÁõÖ

AÔUøPø¯ E¸ÁõUSÁõ# ?

15. (a) How can you modify visual elements of slide ?

]ø»iß ÂèÁÀ TÖPøÍ GÆÁõÖ ©õØÓ®

öŒ#Áõ# ?

(Or)

(b) State the procedure for formatting and checking

text in presentation slide.

]ø»iÀ EÒÍ GÊzxUPøÍ GÆÁõÖ Aø©¨£õ#

GÚUTÖP.
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Part C (3 × 10 = 30)

Answer any three questions.

16. Briefly explain the various generations of computers.

Po¨£õÛß £À@ÁÖ £›Úõ© ÁÍºa]ø¯ Â›ÁõP

ÂÁ›.

17. Explain the Editing features of MS-Word.

MS-Word-À EÒÍ Gimi[ ]Ó¨¤¯À¦PøÍ ÂÍUSP.

18. How do you create chart using MS-Excel ?

MS-Excel-ø¯¨ £¯ß£kzv GÆÁõÖ Áøµ£øhzøu

E¸ÁõUSÁõ# ?
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19. What are the different types of Query used in

MS Access?

MS Access-°À £¯ß£kzu¨£k® £À@ÁÖ Query ø¯

ÂÍUSP.

20. Explain the procedure of adding animation in MS

Power Point Presentation.

MS Power Point  öÁÎ±miÀ AÛ@©åß HØ£kzx®

|øh•øÓPøÍ ÂÍUSP.

***
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B.Com. (C.A) DEGREE EXAMINATION
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Commerce with Computer Application

Elective—WEB TECHNOLOGIES

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part A                     (10 × 1½ = 15)

Answer all questions.

1. What is the expansion of URL ?

URL Gß£uß Â›ÁõUP® GßÚ ?

2. What is the use of Modem ?

 Modem ß £¯ß GßÚ ?

AF-2274    BCC5E1B



2 AF-2274

3. Define SLIP.

SLIP Áøµ¯Ö.

4. What is called Home Page ?

Home Page GßÖ AøÇUP¨£kÁx GßÚ ?

5. Write any two names of the Web Browsers.

H@uÝ® Cµsk Web Browsers  ö£¯º GÊxP.

6. What is the use of  E-mail ?

E-mail ß £¯ß GßÚ ?

7. What is multimedia ?

Multimedia GßÓõÀ GßÚ ?
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8. Define — List.

List - Áøµ¯Ö.

9. How can you work with Windows ?

Windows-À GÆÁõÖ @Áø» öŒ#Áõ# ?

10. Which HTML Tag is used to underline the given text ?

öPõkUP¨£mkÒÍ text I underline öŒ#¯¨

£¯ß£k® HTML Tag Gx ?

Part  B (5 × 3 = 15)

Answer all the questions.

11. (a) Write the history of the Internet.

Internet-ß Áµ»õØÔøÚ GÊxP.

(Or)
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(b) Write short notes on CDROMS.

CDROMS £ØÔ ]Ö SÔ¨¦ ÁøµP.

12. (a) Write about the Internet Service Providers.

Internet Service Providers £ØÔ GÊxP.

(Or)

(b) Briefly explain the Cyber space.

Cyber space £ØÔ Â›ÁõP ÂÍUSP.

13. (a) Explain about SLIP and PPP.

SLIP ©ØÖ® PPP I ÂÍUSP.

(Or)
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(b) List out the uses of E-mail and On-line services.

E-mail ©ØÖ® On-line services ß £¯ßPøÍ

Á›øŒ¨£kzxP.

14. (a) What is the requirement of Hardware and

Software to the Web server ?

Web server USz @uøÁ¯õÚ Áß ö£õ¸Ò ©ØÖ®

ö©ßö£õ¸Ò GßÚ ?

(Or)

(b) Write short notes on HTTPD.

HTTPD £ØÔ ]Ö SÔ¨¦ ÁøµP.
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15. (a) Compare the HTML and Multimedia.

HTML ©ØÖ® Multimedia I J¨¤kP.

(Or)

(b) Write about the Home Pages.

Home Pages £ØÔ GÊxP.

Part C (3 × 10 = 30)

Answer any three questions.

16. Which types of Services available on the Internet ?

Internet  À G¢u ÁøP¯õÚ Services EÒÍÚ ?

17. Explain the Web access.

Web access £ØÔ ÂÍUSP.
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***

18. Explain the Cyber space.

Cyber space £ØÔ ÂÍUSP.

19. Write about the phone lines.

Phone lines £ØÔ GÊxP.

20. Discuss about the HTML tags.

HTML tags £ØÔ ÂÁõvUP.
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Elective—AUDITING
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Time : 3 Hours Maximum : 75 Marks

                                Part A                       (10 × 2 = 20)

Answer all questions.

1. Define Auditing.

uoUøP°¯À & Áøµ¯Ö.

2. What is Error of principle ?

@Põm£õk ¤øÇ GßÓõÀ GßÚ ?
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3. What is Internal Control ?

APUPmk¨£õk GßÓõÀ GßÚ ?

4. Define Internal Check.

APU^µõ#Ä Áøµ¯Ö.

5. What is vouching ?

ŒõßÓõ#Ä GßÓõÀ GßÚ ?

6. What is Bank overdraft ?

Á[Q @©À Áøµ¨£ØÖ GßÓõÀ GßÚ ?

7. What is verification of assets ?

öŒõzxUPøÍ Œ› £õºzuÀ GßÓõÀ GßÚ ?
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8. What are Audit working papers ?

uoUøP |øh•øÓ PõQu[PÒ ̄ õøÁ ?

9. What do you mean by Annual Audit ?

Bskz uoUøP Gß£uß ö£õ¸Ò ̄ õx ?

10. What is Audit Programme ?

uoUøP |øh•øÓ GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all questions.

11. (a) What are the differences between Auditing and

Investigation ?

uoUøP°¯À ©ØÖ® ¦»Úõ#ÄUS® EÒÍ

@ÁÖ£õkPÒ ̄ õøÁ ?

(Or)
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(b) State the advantages of audit.

uoUøP°ß |ßø©PøÍ TÖP.

12. (a) Explain the procedure for audit.

uoUøP°ß |øh•øÓ°øÚ ÂÍUSP.

(Or)

(b) Describe the objectives of Internal check.

APa^µõ#Âß @|õUP[PøÍ ÂÁõv.

13. (a) Bring out the importance of vouching.

ŒõßÓõ#Âß •UQ¯zxÁzøu öÁÎºöPõnºP.

(Or)
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(b) How do you vouch the credit sales ?

Phß ÂØ£øÚø¯ GÆÁõÖ ŒõßÓõ#Ä öŒ#Áõ#?

14. (a) As an auditor, how will you verify Fixed Assets

J¸ uoUøP¯õÍº GßÓ •øÓ°À {ø»a

öŒõzxUPøÍ GÆÁõÖ Œ›£õº¨£õ# ?

(Or)

(b) Write a note on Audit Report.

uoUøP AÔUøP SÔzx ]Ö SÔ¨¦ ÁøµP.

15. (a) Explain the legal position of auditor.

uoUøP¯›ß Œmh {ø»ø©°øÚ ÂÍUSP.

(Or)
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(b) How do you value the Investments ?

•u½kPøÍ } GÆÁõÖ ©v¨¤kÁõ# ?

Part C (3 × 10 = 30)

Answer any three questions.

16. Briefly explain the various types of audit.

uoUøP°ß £À@ÁÖ ÁøPøÍ ÂÍUSP.

17. Discuss about auditors duty as regards internal check.

APa^µõ#Ä SÔzx uoUøP¯õÍ›ß Phø©PøÍ

ÂÁõv.
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***

18. How will you vouch the receipt side of cash book ?

öµõUP Hmiß ÁµÄ £UPzøu GÆÁõÖ ŒõßÓõ#Áõ# ?

19. Explain the different methods of valuation of Stock in

trade.

Â¯õ£õµ C¸¨ø£ ©v¨¥k öŒ#²® £À@ÁÖ

•øÓPøÍ ÂÍUSP.

20. Discuss the civil and criminal liabilities of a company

auditor.

J¸ P®ö£Û°ß uoUøP¯õÍ›ß SØÓÂ¯À ©ØÖ®

]ÂÀ ö£õÖ¨¦PøÍ Bµõ#P.
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B.Com.(C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Application

Elective—COST ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

                                 Part A                      (10 × 2 = 20)
Answer all questions.

1. Define Cost Accounting.

AhUPÂø» PnUQ¯À —Áøµ¯Ö.

2. What  is Cost Sheet ?

AhUPÂø»¨ £mi¯À GßÓõÀ GßÚ ?

3. What is Economic–ordering Quantity ?

]UPÚ öPõÒ•uÀ AÍÄ GßÓõÀ GßÚ ?
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4. What is Perpetual Inventory system ?

{ø» ö£õ¸Î¸¨¦ •øÓ GßÓõÀ GßÚ ?

5. What is time wage system ?

@|µ Fv¯ •øÓ GßÓõÀ GßÚ?

6. What is Labour Turnover ?

öuõÈ»õÍº ”ÇØ] GßÓõÀ GßÚ ?

7. Give formula for Rowan plan.

@µõÁõß vmhzvØPõÚ ‹zvµzøuz u¸P.

8. What is Machine Hour Rate ?

C¯¢vµ ©o @|µ Ãu® GßÓõÀ GßÚ ?

9. What is contract costing ?

J¨£¢u AhUPÂø» PnUQ¯À GßÓõÀ GßÚ ?
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10. What is Abnormal Gain ?

AŒõuõµn C»õ£® GßÓõÀ GßÚ ?

Part  B (5 × 5 = 25)

Answer all the questions.

11. (a) State the advantages of Cost Accounting.

AhUP Âø» PnUQ¯¼ß |ßø©PøÍ TÖP.

(Or)

(b) Prepare a Cost sheet :

Raw materials consumed Rs.80,000

Wages Rs.20,000

Factory expenses is charged at 100% of wages, office
overheads charged at 20% on factory cost.
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AhUP Âø»¨ £mi¯À u¯õº öŒ#P :

~Pµ¨£mh ‰»¨ ö£õ¸Ò ¹.80,000

T¼ ¹.20,000

öuõÈØŒõø» öŒ»ÄPÒ T¼°À  100% ,

A¾Á»P @©ØöŒ»ÄPÒ öuõÈØŒõø» AhUP

Âø»°À 20% .

12. (a) From the follwing particulars, calculate EOQ.

Annual requirements 1600 units

Cost of Materials Rs.40 per unit

Cost of placing and receiving Rs.50 an order

Storage and carrying cost 10% of inventory per annum.



5 AF-2276

¤ßÁ¸® Â£µ[PÎ¼¸¢x ]UPÚ EzuµÄ

AÍøÁU PnUQkP.

J¸ Bskz @uøÁ 1600 A»SPÒ

‰»¨ ö£õ¸Îß AhUP® ¹.40 J¸A»SUS

J¸ EzuµÄUPõÚ öPõÒ•uÀ ©ØÓ® ö£ÖuÀ

AhUP® ¹.50.

ö£õ¸øÍ @ŒP›zx øÁ¨£uØPõÚ

öŒ»Ä&ŒµUQ¸¨¤À 10% [BskUS] .

(Or)

(b) From the following particulars; calculate re-order
level, Minimum level and Maximum level.

Normal usage .... 50 units per week each.

Minimum usage ... 25 units per week each.

Maximum usage ... 75 units per week each.

Re-order quantity ... 300 units

Re-order  period ... 4 to 6 weeks
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RÌPsh Â£µ[PÎ¼¸¢x ©Ö öPõÒ•uÀ,

SøÓ¢u ©ØÖ® E¯º¢u ŒµUQ¸¨¦ {ø»PøÍU

PnUQhÄ®.

Œõuõµn E£@¯õP® .... 50A»SPÒ ÁõµzvØS.

SøÓ¢uÍÄ E£@¯õP® ... 25A»SPÒ ÁõµzvØS.

E¯º¢u AÍÄ E£@¯õP® ... 75 A»SPÒ ÁõµzvØS.

©Ö öPõÒ•uÀ AÍÄ ... 300 A»SPÒ

©Ö öPõÒ•uÀ Põ»® ... 4 •uÀ 6 Áõµ[PÒ

13. (a) From the following data, calculate the total earnings

of the worker under the Halsey and Rowan plans.

Time allowed 48 hours.

Time taken 40 hours.

Rate per hour Re.1.
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RÌPsh ÂÁµ[PÎ¼¸¢x íõÀ] ©ØÖ®

@µõÁß vmh[PÒ ‰»® öuõÈ»õÍ¸US

QøhUS® ö©õzu Fv¯zøuU PõsP.

AÝ©vzu @|µ® = 48 ©o.

GkzxU öPõsh @|µ® = 40 ©o.

T¼ Ãu® J¸ ©oUS & ¹. 1.

(Or)

(b) From the following data, calculate the earnings of A
and B under Taylor’s differential piece rate system :

Standard time 10 units per hour.

Normal wage Re.1per hour.

Differentials to be applied :

75% of piece rate when below standard.

125% of piece rate when below standard.

In a day of 8 hours, A produced 60 units and

B 100 units.
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A ©ØÖ® B ß Fv¯zøu öh#»›ß ©õÖ£õmk

A»S Ãu •øÓ°À ¤ßÁ¸® uPÁÀPÎ¼¸¢x

PnUQkP.

SÔ¨¤mh uµ @|µ® & 1 ©oUS 10 A»SPÒ.

C¯À£õÚ T¼ & 1 ©oUS ¹. 1 Ãu®.

©õÖ£õmk A»S Ãu¨ £¯s£õmk •øÓ.

uµ AÍøÁ Âh SøÓÁõP & 75% A»S Ãu®.

uµ AÍøÁ Âh ªøP¯õP & 125% A»S Ãu®.

8 ©o öPõsh J¸ |õÎÀ A 60 A»SPøÍ²®,

B 100 A»SPøÍ²® u¯õ›zuÚº.

14. (a) From the following particulars compute the machine
hour rate :

– Cost of machine – Rs.11,000

– Scrap value – Rs.680

– Repairs for the effective working life – Rs.1,500

– Standing charges for 4 weekely periods – Rs.1,600

– Effective working life – 10,000 hours

– Power used 6 units per hour at 5 paise per unit.

– Hours worked in weekly period – 120 hours.
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¤ßÁ¸® uPÁÀPÎ¼¸¢x G¢vµ©o ÃuzøuU

PnUQkP :

– G¢vµzvß AhUP® – ¹.11,000

– Gg]¯ [AÀ»x] GÔ ©v¨¦ – ¹.680

– ^µõÚ £oUPõ» £Êx £õº¨¦ – ¹.1,500

– 4 Áõµ Põ»zvØPõÚ {ø»¯õÚ öŒ»ÄPÒ – ¹.1,600

– £oUPõ»® – 10,000 ©o.

– ªßvÓß J¸ ©oUS 6 A»SPÒ, A»öPõßÔØS

5 ø£Œõ Ãu®.

– 4Áõµ® öPõsh Põ»zvß £o @|µ® – 120 ©o.

(Or)

(b) What are  the different methods of overhead absorption ?

@©ØöŒ»ÄPÒ «mP¨£kÁuß £À@ÁÖ •øÓPÒ

¯õøÁ ?
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15. (a) In process  A 100 units of raw maerials were introduced

at a cost of Rs.1,000. The other expenditure incurred

by the process was Rs.602 . Of the units introduced

10% are normally lost in the course of manufacture

and  they  possess a scrap value of Rs.3 each. The output

of process A was only 75 units. Prepare process A

account and abnormal loss account.

A £i{ø»°À 100 A»SPÒ öPõsh

‰»¨ö£õ¸mPÒ, ¹.1,000 ©v¨¦øh¯x,

AÔ•P¨£kzu¨£mhx. £i{ø»°À öŒ#u ©ØÓ

öŒ»ÂÚ[PÒ ¹. 602 BS®.

AÔ•P¨£kzu¨£mh A»SPÎÀ 10% C¯À¦

|mh©õS®. Cuß ©v¨¦ JßÖ ¹.3 BS®.

A £i{ø»°À EØ£zv öŒ#¯¨£mh A»SPÒ

75 BS®. A £i{ø»U PnUøP²®, AŒõuõµn

|mhU PnUøP²® u¯õ›UP.

(Or)
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(b) From the following information find out the cost of

 X and Y the later being the by products on whose sale

a profit of 20% on selling price is obtained.

Separate Expenses

Joint Expenses X Y

Rs. Rs. Rs.

Material 9,000 2,000 1,000

Labour 4,000 800 300

Expenses 2,000 1,000 400

Total amount realised by sale of Y was Rs.3,500.
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¤ßÁ¸® uPÁÀPøÍU öPõsk X ©ØÖ® Y ß
AhUPzøuU PnUQkP.Y GßÓ xøn¨ö£õ¸øÍ

ÂØ£øÚ Âø»°À 20% GßÓ C»õ£zvÀ

ÂØP¨£mhÚ :

        uÛa öŒ»ÄPÒ

ö£õxa öŒ»ÄPÒ X Y

¹. ¹. ¹.

‰»¨ ö£õ¸mPÒ 9,000 2,000 1,000

T¼ 4,000 800 300

öŒ»ÄPÒ 2,000 1,000 400

Y- ß ÂØ£øÚ°¼¸¢x Qøhzu öuõøP ¹.3,500.

Part C (3 × 10 = 30)

Answer any three questions.

16. Distinguish between Cost Accounting from Financial

Accounting.

AhUP Âø» PnUQ¯ø» {v{ø»

PnUQ¯¼¼¸¢x @ÁÖ£kzv PõmkP.
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17. From the following particulars prepare Stores Ledger

account under (i) Simple average method and (ii) Weighted

average method.

Purchase Rate Issues

Rs.p.

5-4-96 200 units 2.00 –

7-4-96 300 units 2.40 –

10-4-96 – – 250 units

16-4-96 250 units 2.60 –

25-4-96 – – 200 units.
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¤ßÁ¸® ÂÁµ[PÎ¼¸¢x £sh[PÒ @£@µmkU

PnUøP

(i) Œõuõµn ŒµõŒ› Âø»•øÓ°¾®

(ii) ©v¨¦ HØ£mh ŒµõŒ› Âø» •øÓ°¾® u¯õ›UP

öPõÒ•uÀ Âø» Ãu® ÁÇ[Rk

¹. ø£.

5-4-96 200 A»SPÒ 2.00 –

7-4-96 300 A»SPÒ 2.40 –

10-4-96 – – 250 A»SPÒ

16-4-96 250 A»SPÒ 2.60 –

25-4-96 – – 200 A»SPÒ.
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18. Calculate the normal and overtime wages payable to a

workman from the following data :

Days Hours worked

Monday 8

Tuesday 10

Wednesday 9

Thursday 11

Friday 9

Saturday 4

Normal working hours : 8 hours per day.

Normal rate : 50 paise per hour.

Overtime rate : Upto 9 hours in a day at single

rate and over 9 hours in a day at

double rate.
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RÌPõq® ÂÁµ[PÎ¼¸¢x J¸ £o¯õÍ›ß Œõuõµn

©ØÖ® ªøP Põ» Fv¯zøu PnUQkP.

|õÒ £o öŒ#u @|µ®

v[PÒ 8

öŒÆÁõ# 10

¦uß 9

Â¯õÇß 11

öÁÒÎ 9

ŒÛ 4

Œõuõµn EøÇ¨¦ @|µ® : |õÒ JßÖUS 8 ©o @|µ®.

Œõuõµn T¼ ©oUS : ¹. 50 ø£Œõ.

ªøP Põ» Fv¯® : •uÀ 9 ©o@|µ EøÇ¨¦

@|µzvØS Œõuõµn T¼,

9 ©o @|µzvØS @©À

Cµmi¨¦U T¼.
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19. The company has three production departments and two

service departments, and for a period the departmental

distribution summary has the following totals.

Production departments : Rs.

P1 Rs.800; P2  Rs.700 ; P3  Rs.500 2,000

Service departments :

S1 Rs.234 and S2  Rs.300 534

————

2,534

————

The expenses of the service departments are charged out

on a % basis as follows :

P1 P2 P3 S1 S2

Service dept. S1 : 20% 40% 30% – 10%

Service dept. S2 : 40% 20% 20% 20% –

Prepare a statement showing the apportionment of two

service departments expenses to production departments

by simultaneous equation method.
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J¸ {ÖÁÚzvÀ ‰ßÖ EØ£zv xøÓPÐ® C¸

öuõskz xøÓPÐ® EÒÍÚ. xøÓPÎß ö©õzu¨

£QºÄ ¤ßÁ¸©õÖ :

EØ£zv xøÓPÒ : : Rs.

P1¹.800; P2 ¹.700 ©ØÖ® P3 ¹.500 2,000

öuõskz xøÓPÒ :

S1 ¹.234 ©ØÖ® S2 ¹. 300 534

————

2,534

————

öuõskz xøÓPÎß öŒ»Ä £Pº¢uÎUP¨£k®

ŒuÃu® Á¸©õÖ :

P1 P2 P3 S1 S2

öuõskz xøÓ S1  : 20% 40% 30% – 10%

öuõskz xøÓS2   : 40% 20% 20% 20% –

J¸[Pø©a Œ©ß£õmk •øÓ°À Cµsk öuõskz

xøÓPÎß öŒ»ÂÚ[PøÍ EØ£zv xøÓPÐUS

£Qº¢uÎUS® AÔUøPø¯z u¯õ›UP.
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20. A product passes through three processes, A, B and C. The

normal loss of each process is as follows. Process A–3% ;

process B–5% ; Process C–8%. Loss of process A was sold

at 25 paise per unit that of B at 50 paise per unit and that of

C Rs.1.00 per unit. 10,000 units were introduced to process

A at Rs.1.00 per unit. The other expenses were as follows :

Process

A B C

Rs. Rs. Rs.

Materials 1,000 1,500 500

Labour 5,000 8,000 6,500

Direct expenses 1,050 1,188 2,009

Actual output [in units] 9,500 9,100 8,100

Prepare the Process accounts assuming that there were no

opening or closing stock.
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J¸ ö£õ¸Ò A ,B ©ØÖ® C GßÓ ‰ßÖ £i•øÓPøÍ

Ph¢x u¯õµõQÓx. JÆöÁõ¸ £i•øÓPÎß PÈ¨¦PÒ

Œõuõµn |mh® ¤ßÁ¸©õÖ :

£i•øÓ A - 3% £i•øÓ B - 5% £i•øÓ C - 8%  PÈ¨¦¨

ö£õ¸Ò ÂØ£øÚ J¸ A»QØS £i•øÓ A ÂØS 0.25

ø£Œõ, B - 0.05 ø£Œõ, C - ¹. 1.00 BS®. £i•øÓ A À

~øÇUP¨£mh •ußø© ‰»® ö£õ¸ÒPÒ ¹. 1 Ãu®

10,000 A»SPÒ. Cuµ öŒ»ÄPÒ.

£i•øÓ

A B C

¹. ¹. ¹.

‰»¨ö£õ¸ÒPÒ 1,000 1,500 500

EøÇ¨¦ 5,000 8,000 6,500

@|µia öŒ»ÄPÒ 1,050 1,188 2,009

EØ£zv öŒ#¯¨£mh

A»SPÒ 9,500 9,100 8,100

Bµ®£® ©ØÖ® •iÄ¨ ö£õ¸mPÒ CÀø». £i•øÓ

PnUSPøÍz u¯õ›UP.

***


